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Choose the correct answer from the codes

PART -1/ 4T - |
GENERAL AWARENESS / W SIRTG el

According to the Economic Survey of India
2022-23

™

)
1.
, the Gross Enrolment Ratio in schools !

has seen a decline in 2021-22 in comparison '

with 2013-14 for which of the following levels ?

(2)  Primary
(b)  Upper primary
() Secondary

given below.

(1) Only (c)
(2)  Only (b) and (c)
(3) Only (a)
(4) Only (b)

teams won the Torneo del Centenario 2023

Which of the following women’s hockey

title ?

(1)
(2)
(3)

(4)

People’s Republic of China
India
Spain

England
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wra F snfda FEHOT 2022-23 *F o1y
ﬁﬂﬁﬁfﬂﬂﬁﬁﬁmwm 2013-14 1 &
feaerdl © THE AEA AT

2021-22 ¥

(a) R |
(b) 37 WUfa®

(c) AT
ﬁmmﬁﬁﬂﬁmmwm\
(1), FF (c)

(2) F (b) ()

(3) FF (a)

(4) A (b)

frefarfiaa # @ foa Afeen €A W 3 AT
el e 2023 i feae i ?

(1) = SFaR) TR

(2) wrd

(3) T

(4) ¥l



3. "Alamgir Nama’ is the chronicle of the reign | 3. ‘s amn’ faefafaa 0 @ e =mwe

of which of the following Mughal emperors ? | ¥ WA =1 3fawm €7
(1)  Aurangzeb } (1) m

(2) Bahadur Shah Zafar I

| (2) @@Fe mew

|

(3) Jahangir ' (3) T
|

(4) Shah Jahan ! (4) TR
|
|
l
|

Which of the following is an example of a
permanent executive in India ?

4. fofafEd § 9 &9 3@ 99d § UF 90 §EE
= IR E ?

(1) A Civil Servant (), @

(2) The Prime Minister of India (2) 'm'{ﬁ T aEE

(3) A Central Cabinet Minister (3)  F=EE Hew wh

(4) The Governor of a State (4) T3 1 THUTA

Institute of Technology (IIT) campus outside aTed Ygen ol T <w § zenfuq fean snom ?
India going to be set up ?

|
!
|
i
|
!
|
|
|
|
l
|
|
5. In which country is the first ever Indian g 5. YRAE WM §E (2E3mEl) &1 Y9G |
i
|
|
|
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l
l
!
|

(1) Ghana (1) E=r
(2) Nigeria 2) TS
(3) South Africa (3) <lem At
(4) Tanzania (4) dnfEn
El‘ O]
[GT-HIN-2023 2% 3



6. When an ant bites o human, what does it
inject mto the human skin ?
(h Calamine solution
() Formic acid
() Sodium hydrogencarbonate
() Zinc carbonate
7s Which ot the following statements 1s correct

in relation to the Right of Children to Free and
Compulsory Education Act, 2000 (RTF) ?

(1)

(3)

)

No child is denied admission in a school
according to this Act, for the lack of age

proof.

The Act applies to the whole of India

except the state of Jammu and Kashmuir.

Elementary Education in this Act is

defined as education from class 1 to 6.

The Act provides for free education to
all children upto the age of 16.
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6.

b7,

< faredt enfaa w1 FTelt § o oy

sTet T
ul 4? afe T aTE At & F
(1) e R1G
(- fdE ufas
(3)  HfzAm EE AR
(1) foier arai1e
9,
9. 91e% sfir stfard | foen &1 =
sifprfrm, 2000 (RTE) & w4 § frefafaa 7
B A A A T R ?
(1) =8 sAfufrm & STan fae off s
Wl?ﬁm# aqﬁﬁﬁ'ﬂmﬁm
1C
(2) Hﬁﬂfuﬁwmaﬂtwﬁtmaﬁm
TR I R
Wﬁﬁ"&ﬂ%mnv&mﬁmmﬁm
(1) afufrm @ awE A 16 ad 7 6
T 4.9 faen @1 waum Fa
|




10.

The longitudinal valley lying between lesser
Himalaya and the Shivaliks are known as

(1)  Kullus

(2)  Pir Panjal Range
(3) Purvanchals

(4)  Duns

Which of the following pairs of the places of
historical significance and the countries within
which they fall, is matched correctly ?

(1)  Nuremberg - France

(2) Rivonia - South Africa
(3) Versailles - Germany

(4) St Petersburg - England

Which of the following industrialists was
awarded the Padma Bhushan 2023 in the

field of Trade and Industry ?

(1) Adar Poonawalla

(2) Gautam Adani

(3) Mukesh Ambani

(4) Kumar Mangalam Birla

w
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10.

a1 femrera siv foreferss & #ia w3 v 2o

(1) %7l

(2) I G S
(3) A

(4), 51

H | F1 @ g e gafed @2

(1) = - W

) fafm - =i R
(3) FEHd - A

(4) e dieder - Fwe

SR 3 I F &7 ° a9 2023 1 9gH U

- queR Frefafaa § @ fFa sammd 1 9eE

fra mn 22

(1) &R EAeel
(2) TiaH 37O

() THW S

(4) FAR e faten

R3



11.

PART - Il / 9T - 1l
& eudl

(I) alone is not sufficient to answer the

¥ &1 SR 23 % for vt T ¢

REASONING ABILITY/ N :
In this question, a question is followed by two P11, 3@UE %, Th T 5 e (])#R (I} §
1 y fF :
, | 5 s 7 T T E O F o fog
statements numbered (I) and (II). You have l el PeX zﬁfc‘mtrﬁlﬁ%'mqﬁ
to decide whether the data provided in the | 221 g 1 3T e 7 X | %y
statements are sufficient to answer the , & 7% A
question. Read both the statements and |
decide the appropriate answer. I
How many students of class 11t have got i 7fg 11 1 F4T i o aﬁq? 3 80%, ﬁ'%
exactly 80% marks in Physics in annual i e IaSEI-I orl , Al T ﬁ
examination, if total number of students in ' 80% 3T A< fe € _‘___‘
the class is 80 ? | j:.l‘_
(I) 45 students of class 11" have got more ; () eIl + 45 ¥ 3 = F iy f§
than 80% marks in Physics in annual ! ifaes fammr 5 80% | s 3@ !
examination. { foru ¢l
(II) 30 students of class 11*" have got less ! (1) 117°f FHeTH 30\@“ 1 AT Tig
than 80% marks in Physics in annual | 7 siifert faram H 80% @ FH C%"fqéz:L
examination. ;
¥
|
(1) Either statement (I) or (II) alone is | (1) =11 &2 STt (1) 0 bl () ¥ 3
sufficient to answer the question g I A & foaw mara g1
(2)  Both statements (I) and (II) together are ! (2)/ Y & S| A & fag Fa () Hﬂl(ﬂ)i
necessary to answer the question g Sl hl Teh Q1Y SAEvgehdl gl
(3) Statement (I) alone is sufficient while ] (3) 3Tkl wHYA (1) ot ¥ wafs s (0
(II) alone is not sufficient to answer the | T &1 I & F ol gaa 7 €l
question !
(4) Statement (1) alone is sufficient while | (4) FFS e (1) TE@ & SEfh g

question

\T-HIN-2023 2%
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12.

13.

Three statements have been given, which are
followed by two conclusions (I) and (II).
Assuming that the given statements are true,

find out which of the conclusion(s) is/are
definitely true.

Statements : P<T, Y>W, P=

Conclusions :  (I) W<P

(I T>Y
(1)  Both conclusions (1) and (II) are true.
(2)  Neither conclusion (I) nor (II) is true.
(3)  Only conclusion () is true.

!
1
|
|
|
|
|
i
|
|
|
I
|
|
(4)  Only conclusion (II) is true. ;
|
In this question, three statements are given,
followed by two conclusions numbered !
() and (I). Assuming that the information !
given in the statements are true, even if they !
seem to be at variance with commonly ]

the l

conclusion(s) logically follows/follow from !

known facts, decide which of

the statements. !

Statements :  All caps are socks. ;

All frocks are masks. !

All masks are socks. i

Conclusions : i
(I)  Some frocks are caps. il
(II)  Some masks are caps. l
(1)  Both conclusions (I) and (II) follow I
(2)  Neither conclusion (I) nor (II) follows i
(3)  Only conclusion (I) follows =
(4)  Only conclusion (II) follows |

Ol O]
- TGT-HIN-2023 %& 7

& A feu o E for A 2 feed (1) @0
(11 few &1 7@ wAd g, fou e e =
$ qan e o WA T (R) frewd ffrem #9H
TAE (€)1

weA: P<T, Y>W, P=Y
frerd: (1) WsP
a T>Y

(1) fored (1) 2 (11) 2 €1 A
@) 39 e (1) 2 RA G (1) FA T
(3) ae feRd (1) F €

(@) Hae Fe=Rd (1) T T

=4 e ¥, T e faw e € foress = & e
(1) 3 (1) few T § | =@ we gu o e A
T SER TR § AR 9% 9 9 el § i
1 =i 71 71, 7% Fvta Ffe fo fag T fed |
2 = Ty T S e T e ¥
faeherd €1

wOT: WA ESEl o o
it T q@Ie ¥ | -
gt gie O § 1

e

()  Fo Wik 2 €1

(1) F© g 2k €|

(1) TreRd (1) &R feed (1) S fere €

(2) T TRy (1) 3R A @ e (1) feem
Tl

(3) Faa e (1) fereman ¥

(4) wFaa freRd (1) Frerer &)



14.  Study the given diagram carefully and I 14.
answer the question. The number in different I
sections indicate the number of persons in an '

area who buy different magazines.

Champak

Sarita 13 Q

16
Nandan

1

< e 7 T e & S T s

What is the number of persons who buy both

N

Champak and Nandan but not Sarita ? <M Elied © wifer Tfa =& |ded ?

=1
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(1) 9 (1 9
2) 12 (2) 12
3 3 (3)e 3
(4) o 4) 6
L0 R1
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16.

A+ B means ‘A is the father of B’
A =B means ‘A is the mother of B’
A X B means ‘A is the sister of B’
A+ B means ‘A is the brother of B’

Based on the above, if ‘'S—-G+T-MxP+R’,
then how is ‘S’ related to ‘P’ ?

(1)  Father’s mother
(2) Sister
(3)  Mother

(4) Mother’s mother

Eight girls G, K, P, A, D, Q,Sand M are sitting
around a square table but not necessarily in
the same order. Four of them sit at four
corners of the table while four sit in the
middle of each of four sides. The one who
sits at the four corners face outside the center
while those who sit in the middle of the sides

face inside.

‘Q’ is sitting at one of the corners and she is

third to the right of ‘K’. “A’” is not sitting at
any of the corners. ‘P’ is sitting second to the
left of ‘K’ and immediately right of 'S". ‘K’
and ‘D’ are facing each other. Who is sitting,

immediately left of Q" ?

(1) K
2 G
3 D
A

miYe

GT-HIN-2023 B3t
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A+BFRI s A, B faa &’
A-Bw s 'A, BFIT &'

AxBEHF 3 A, BHRI FEAE’
A+BE i §'A, BH MEE'

T F MR W, AR S-G+T-MxP+R
@ g, 4 fea yEr Faf ford € 2

(1) foar =1 =
(2) A

3)

(4)/ @& =

a8 wef®al G, K, P, A, D, Q, S 3N M TH
SRR T 3 TR AR G381 € i Sed el 16
= FH A E | ST G AR A & =R S 9ad
& St 9 B9 F 9 sl F 5 | 931 €
=R FE W A3 § SAF 4E hg § =l &l
3R & et w1 el & 9 1 G431 € S g
3T & AR T

Q fFdfl THF FH WA T iR ae K < 4
T A W A TR off vm TR A6 ')
‘P,KF Al 3R g TH W RS’ & 3l
TR AT K IFD TR T F HEE E ) Q
& Ik A DM 931§ ?

(1) K
2) G
(3) D
) A



Two statements are labelled below as ' 17:

Assertion (A) and Reason (R)

Assertion (A) :

Government of India has banned more than |

10 vears old Dicsel Vehicles on the roads of
Delhi

Reason (R) :

Diesel prices have increased i the past few

vears

Sclect correct answer wath the help of code.

f
|
|
?
{
|
?

t
i

f

(1) (A) s true but (R) 1s talse

(2)  (A) s false but (R) 1s true

(3)  Both (A) and (R) are true and (R) 1s |
correct explanation of (A)

(4)  Both (A) and (R) are truc but (R) 15 not

correct explanation of (A)

Tanva wears T-shirts of seven different
colours Red, Green, Yellow, Blue, Purple,
Orange and Magenta on seven different davs
of the week starting from Monday. She wears
green T-shart on Thursday. She does not wear
vellow or purple colour T-shirts on Friday.
She wears red colour T-shirt after the green
colour T-shirt. She wears only purple colour
T-shirt on the dav between the days on which
she wears Blue and Magenta colour T-shirts.
She wears orange colour T-shirt after yellow

colour T-shirt.
On which day she wears orange colour
T-shirt ?

(1) Saturday
(2) Wednesday
(3) Tuesday

(4) Su nday

".HIN-2023 @3352
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18.

fra & o fan 0 ¥ i (AM:
& (R) fafa (T
e (A)
et 3N A fzl AR T 10T A i
i Fare Al T A et

A% (R) :
frezt A T B £ T R T E

R R Ty

ﬁzr.’rnzmmixué‘:waﬂw exd
(A) 7 7 T (R) T

(1)
(2) (A)TFA 7 A (R) & 21
(3) 2 (A) A7 (R) FE € 4T (R), (A)Eﬁm

FATATZ | 4‘1
(1) I (A) 7 (R) 7 T (R), W=

el ATAT T2l 2 |

=1 WA § I[F A AT 99iE & 86 |
TAT- AN TaA1 § JA SeA- e 1 o, 7
e, =fT7ﬂ FEI, A T e T H A-R
el 21 A FAN F1 & 17 H A-WE TE e
a2 IFAT &1 G A1 ST R - T
TEAdl &1 g BT 1 F -8 & A1g o T H
A1-v12 TEAd €1 dE 34 e o i Haw A
11 1 2192 weAd 2, form fam ae feh AR i
T F1 A-98 9Bl T a?qramﬁa’r-mii
‘naww«‘:h‘ra I TEdl B

a?mmamﬂmmamiqm%7

(2) ?IW

(3) HITTAR
4y, Maamr

(1)

R3

20

[




19.

GT-HIN-2023 Sat

50 meters towards East then turned to his l
right and travelled 150 meters from there he |
turned to his left and travelled 100 meters to !
reach a temple. From the temple he moved
250 meters towards North and then turned
left and travelled 100 meters. Finally, he
turned to his left and moved 100 meters to %
reach a point ‘P’. What is the direction and |

shortest distance of his home from the poin

o
(1) North, 150 meters
West, 50 meters
East, 100 meters

(4)

North - East, 90 meters

If the first half of the following sequence is |

made second half, which letter/number/ |

the left of the fifth place from the right end ?

()I ;“‘l ll #

|
|
|
i
|
|
!
|
I
|
|
!
|
|
i
|
symbol will come at seventh place towards i
|
|
L. X.J: KL L 1J; A, 5, 9, H.2, L%, |
i

!

i

l

l

|

!

B

11

Bhairav started from his home and travelled I 19.

20.

ITE F AT WA EeE A 350 Wet i w
SR AT R 319 arfedt Sin gEeRt 150 Wt
1 A F ) TE | e A S gE o Hid
T wEe  feru 100 HiET T A A Hfer |
T 250 et I R 3 e A fR A o
et 100 X T i H T s = iR
e 3R fig P W 9ge F ferg 100 HRU =@
'@'P’ﬁmmﬁmﬁﬂwﬁw’%?

(1) I, 150 HiX

(2) fv=m, 50 HIX
(3) T4, 100 "X

(1) SW-TE, 90 X

fe famfafad sHA & e Y 9 H Ha
st o feen S, @ < SR uied w|E &
AR SR T A TS W/ gen/
3T ?

LXJLKLLUAJS59H2T%9@,1,#

2) 1
3 U
() @

R:



PART - Il / 4T - 1l : o
KNOWLEDGE OF ICT / ICT P13 7
Out of the following, which software you | 21. FrEeR G & qI H .W q@? mm‘
suggest most to develop and present a | (Multimedia Presentahgﬂ;mﬁ'ﬁ v‘gqja’-
multimedia presentation on Cyber Security ? % ferg ama A ”5”_3“' RUELT ol

| o 0 g S

(1) TIEhIER < (Microsoft Word)
2~ ArEF 19T Fe qraR T3 e (Microsofa

21.

(1)  Microsoft Word

(2) Microsoft PowerPoint
PowerPoint) {

|

|

|

|

|
(3) Microsoft Edge g (3) rEHET TS (Microsoft Edge)
E (4) TEETETR T (Microsoft Excel)
i
|
|
i

(4) Microsoft Excel v
B5

22, s ereaw feamsd fat (Switch) T

22.  The computer hardware device Switch is an

example of : ! B ‘
| ‘ :
(1) Networking device | (1) Fzafshn feasd (Networking device)
| 4
(2) Output device i (2) emseqe feaEd (Output device)
(3) Input device ; (3) Y fearsd (Input device)
(4) Storage device { (4) TS feamd (Storage device)
i
|
23.  Which of the following is the least threat for l 23. frafafas ¥ @ fead am@ e 1 Gap6.
virus infection ? | T Y T € ?
(1) Downloaded free software ; (1) TRAASS Wl GRTHR (Downloaded l'rt'E
| software)
(2) Downloaded email attachment I! (2) TEAAISE §-HA deAHS (Downloadf
| email attachment)
(3) Online printer ll (3)~ SFE fi¥eT (Online printer)
(4) Portable storage devices l (4) Urada Wiw feagg (Portable storagl
| devices) :
E‘ \E} 2
TGT-HIN-2023 &% 12 gﬂ'G
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24. Which of the following set contains only | 24. faefafaa # 9 fan w9z 4 e gz fzan

R5.

input devices ?

(1)  Printer, Speaker, Monitor

(2) Keyboard, Mouse, Printer

(3) Keyboard, Mouse, Scanner

(4)  Printer, Scanner, Speaker

s

Select the shortcut key, out of the following
which is popularly used to paste a selected
(and copied) text or image in most of the
MS Office applications.

(1) Ctrl+X’
(2) Cul+'Z’
(3) Ctl+'P

(4) Ctrl+'V’

Which type of network, generally we
establish, when we connect 20 computers in

our school’s computer lab, using some

additional networking devices and wired |

cable ?

(1) MAN

2) WAN

(3) PAN

(4) LAN
[

— E
GT-HIN-2023 %‘&

€7

q (s
(1) fuzz, =gz, a2t (Printer, Speaker,
Monitor)

(2) F1-9718, T3y, s (Keyboard, Mouse,

Printer)

(3)/ FI-A1E, HIF, TFAL (Keyboard, Mouse,

Scanner)

4 fg/?{, TR, THT (Printer, Scanner,
Speaker)

25. AfiRie UH.UE ARG TEEHIE § TH HA92s
(g FHifqg) THZ I TS F Tz (paste)?ﬂﬁ
& fom fr=fafaa 9 7 5 wéaz -1 (Shortcut
key) 1 HaifHa AT faan S € 2

2) Ctrl+'Z’
(3) Ctl+'P

(4)  Ctrl+V’
~

| 26, @ ¥H $ oifafem Aeafdn feary iR am
AT T WA Hleh 37T Thel i HI od o
20 FFS HI 0T H Sied § o qaa g9
e el ol F2ad (Network) ¥1fid =T & 2

(1) THTT. (MAN)
(2) T=ELT. (WAN)
(3) HLLTA. (PAN)

-~ -

|
I
I
|
l
l
|
!
|
|
|
|
i
i
!
!
l
!
|
;
| (1) Cul+X’
|
|
|
|
|
!
!
|
!
!
|
!
!
|
|
|
|
|
I
|

(4) TATLTA. (LAN)

13 R3



27. In computer terminology, https stands for: | 27.
(1) Hyper Text Transfer Protocol Scheme
(2) Hyper Text Transfer Protocol Storage
(3) Hyper Text Transfer Protocol Server ,
(4) Hyper Text Transfer Protocol Secure ;
28. Which of the following is not an example of g 28.
web browser ? |
(1) Edge |
(2) Firefox i
(3) Android g
(4) Opera i
29. Arrange the following memory units in j 29,
ascending order of their capacities. !
Giga Byte, Kilo Byte, Mega Byte, Tera Byte g
(1) Kilo Byte < Giga Byte < Mega Byte < i
Tera Byte ]
(2) Kilo Byte < Mega Byte < Tera Byte < ?
Giga Byte !
(3) Giga Byte < Kilo Byte < Mega Byte < <
Tera Byte g
(4) Kilo Byte < Mega Byte < Giga Byte < !
Tera Byte i
30. Which of the following is not a popular file | 30.
extension of an audio file ? l
(1) wav g
(2) flac ;
(3) mp3 |
(4) pdf I
TGT-HIN-2023 &% 14

Fragzy &1 T H, https F1 314 ¢
(1) T 2L ZEH AIZTRTet Ty (Hype,
Text Transfer Protocol Scheme)
(2) TEW THRZ TR ﬁ'raﬁahm (HYPQ
Text Transfer Protocol Storage)
(3) TEW THZ ZHE WL HeR (Hypé-

Text Transfer Protocol Server) 5)

(4)/ mmmmm (HW

Text Transfer Protocol Secure)

fefafad § | S 1 9 FEsK (webbmwse,i
1 TF ISETT G © 7

(1) T (Edge)

(2) HETHIH (Firefox)
(3~ UgEe (Android)
(4) YU (Opera)

frpeferfaa Fr gl 1 TRt amar (Fafd
& IR E 3 H Fafted i)
Giga Byte, Kilo Byte, Mega Byte, Tera Byte

(1) Kilo Byte < Giga Byte < Mega Byte‘
Tera Byte ¥

(2) Kilo Byte < Mega Byte < Tera Byte
Giga Byte

(3) Giga Byte < Kilo Byte < Mega Byte 4

Tera Byte
(3)~Kilo Byte < Mega Byte < Giga Byte#

Tera Byte

freferfn & & 17 w1 T siifed wiEd (Audi
gle) 1 AT RIS TFSYH (extens:on)??

? g
(1) wav
(2) flac
(3) mp3
(4), pdf




PART - IV / 3T - IV
TEACHING APTITUDE / f¥teror aifrf

.. Which one of the followiny is least likely a

factor affecting learning ?

(1) Readiness )
(2) Co-curricular m‘tivitivé_" .'
(3)  Imitation g .
(4) Maturation :

Which kind of ICT tools is notuscful in learner

centred approach ?

(1) Constructive

(2) Communicative
(3) Informative

(4) Situating

.. ldentify the statement which is not correct :
(1) Matching type of item is a form of

multiple choice item.

Every supply type ‘item can be

converted into selection tj'pe of item.

Extended response item is%an essay type

item. )

Obijective type of Items are more

preferable in measurmg creative ability

of the students.

()

(4)

Which one of the followingy is not associated

with unit test ?

(1)  Use of standardised achievement tests.

(2) Results shared with parents.

(3) Confined to limited number of
competencies.

(4) Totally controlled by the teacher.

5* ]
A creative student is one wbu llas,

(1) Memorization ablht}
(2)  Ability to solve probk.ms
(3) Originality and flexibilil ty of ideas
(4) Above average IQ F‘g')
P G

T-HIN-2023 &

31.
32,
33.
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J
|
|
|
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|
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|
|
|
|

|
i
|
|

| 34.

?

l

)

i

|

|

|
35.

|

|

|

|

|
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frrifaa 6 & AT weE At w Han wn
wfera wvan &2

(1) e ie

(2) e wh fwad
(3) IR

(4), ufroEm

feg Wbt o T A vz T faend
ez 3 | g E A E 2

(1) TFIEHF

(2)  HATIATH

(3) A

(4), frme®

) oy R S A A

(1) W(ijﬁ)gﬂ?m
mwn?wmﬂ

(2) qmm}"mmmmtﬁ
Wﬂﬂf’jﬁﬁﬁ”ﬂ‘ﬁ'{m?l

3) mﬁmqﬂwﬁﬂmmmal

WT’WTTHWWTHW
ammrrm?q sifer ST E1d € |

fifara § § FT THE ThA H arEg T €2

(1) A ITafs] Tami & wEm |
(2) o s | == A
(3) @I 1 Hifea e e € )

(4) ek gryoia: et @ e

(1) T &l A

(2) THEN THHEA &l AT

(3)_ iferahar ST ezl fa=m &

(4) W H 3= qfg @t

R3



36. Which prim'nplv of playway method helps in | 36, aa fafv w1 #9-m fogra @ FA 2T
cultivating sell discipline ? H H HeaE v 62
(1) Principle of creativity (1) FFEED F fagra )
(2)  Principle of responsibility (2), Fazifae @1 fagra 5
(3) Principle of complete freedom (3) ‘T’ﬂ Tagam 1 fagra ;
(4)  Principle of activity (4) fwamhem = fagra i
37.  Complete the statement 37. w9 F) Q0 FIm
In teaching if nothing has been learned, 7tz foegm ’-‘f?f@’ i raksite Ko o e 22 ‘ﬂ"'ﬁ!
nothing has been - T 4
(1) examined (1) <= {
(2) observed (2) sraeta o f
(3) taught (3) = T
(4)  studied @) v fEm
38.  Which is not an advantage of integrated § 38. mmfaa (F5meE) mm -4t fagm
textbooks ? ‘-;m 27
(1) These may not suit student’s individual (-ﬁ 3 faenfddi % wrfgama sfum Tl %6
learning styles. feru 397 fog &1 wrdt Z '
(2)  Such textbooks provide support to (2) U YR SR fareqal 1 HErEal

il“’)tPl‘I'i(‘!'lCL‘d teachers.
(3)  Textbook can be used as a syllabus,

|
I
l
(4) These provide readymade materials. { () A Far A wer e €
|

39. A teacher first tells the rule and principle and
then cites examples to explain_the concepl.

Which approach she/he is adopting ? JUNTH ST TR €

(1) Explanatory (1) e
(2) Investigatory (2) LGIE] :
(3) Inductive (3) IMTHATHS Y
(4) Deductive () Frmrers fa

40. Which one of the following is not a | 40. freifra | Q@ TA-4 afwmmﬁqm

characteristics of ‘Assessment  for a1 e €1 €2 1
Learning’ ? - . *{
(1) Itis judgmental and hvnce evaluative. (1)~ 7g Foigreas ¥ a7: YeuiEa F e 1
(2) It provides continuous ftedback (2) e e wfaqfe wem % i

(3) T e fereneft i wHeda 3w maﬂ

1 YEEE 1 TRAE 2
(4) mﬁaﬁ&mmmmﬂﬁwmm

(3) It helps in identifying q{rcnpthq and
weaknesses of every qtudxent

(4) It allows students to roflect dpon their
work so as to take qpec:hc '\ctlom to st 2 ¢ fsed 9 YU ﬁﬁfmm
improve upon. L l I31 Tk |
S
R3
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PART -V / 41T - v 23095194

SOCIAL SCIENCE / \mHifoa fagm
41. Given below are two statements. Read them | 41. TR T = S EECED w2 31:;?‘1
carefully and choose the correct answer with T forredi =1 gea 4 e I H AT
the help of given options.
‘ 5
Statement (I) : There is a general consensus FUT () : WA W 3*1"4 el € fiﬂ'( e
that high level of buffer % qE Wi =1 ﬁg,ﬁ 5 Tt
stocks of food grains is very e & o a8 TS
undesirable and can be <l
wasteful.
- T ()
Statement (I) : The rising Minimum HUA (1) : Tt =gAad T A fﬁ il
Support Prices (MSP) have ﬁmmw
raised the maintenance cost @ 9
of procuring foodgrains by
the government.
Options : ICCItE
(1) Both Statement (I) and Statement (Im) : (1) =g (1) SR = (10) SH1 TTed © |
are false. i
(2) Statement (I) is true but Statement (II) l (2) e () §& € T A (1) T ¥
is false.
|
(3) Statement (I) is false but Statement (II) ! (3) YA (I) T 2 qT‘l A (11) T Bl
is true. g
|
(4) Both Statement (I) and Statement (II) ' & U (I) 3 o (17) i T £
are true. I
EI@E‘I
TGT-S0S-2023 m% 17 Q3



42.

43.

44,

Given below are two statements, One of them
is Assertion (A) and the other is Reason (R).
Read them carefully and choose the correct

answer with the help of given options.

Assertion (A) : Different countries use

different poverty lines.
Reason (R) :  What is necessary to satisfy
the basic needs is different
for different countries.
Options :
(1)  (A) and (R) both are true but (R) is not
the correct explanation of (A).
(2)  (A)is true but (R) is false.
(3) (A) is false but (R) is true.
(4) (A) and (R) both are true and (R) is the
correct explanation of (A).

Food security means :

(1)  Availability and affordability of food to
all the people.

(2)  Accessibility and affordability of food
to poor people.

(3) Availability, accessibility and
affordability of food to all people.

(4) Availability and accessibility of food to
poor people.

Which of the following teaching learning
material/methods can you use in your
secondary class to discuss about 1943's
famine of Bengal ?
(A) Drama
(B) Novels
(C) Photographs
(D) Newspaper Reports
Options :
(1) (A), (), (D)
) (), (), D)
3) (&) Q. D)
4) (A, (B) (©)
EESE

1.

TGT-S0S-2023 @

43.

A 71 #44 feo T ,:;“f-m 7 i ,,;fq—;mmj
S 7 IO (R) 7, 2% AT 7 S b
FALS faF=i DARZEALGH I%' A S ) 3

sfamad (A):  fafa=1 291 s g i

T ] VA FA |

I (R) ¢ g AATTEAA 71 7 e

F fam arwrr gy =
s 4 = 7

faamea

(1)

(2)
(3)

(A) 47 (R) ZF1 771 7 77 (R), (A) 1 771
(A) A7 Z 77 (R) 777 7|
(A) T4 % Tiq (R) 77 Z |

(4y" (A) 47 (R) 71 771 Z 417 (R), (A) 1 721

-
A=A 'F_J;ﬂ _'r::l

A F A4 7

(1)
(2)
of

(4)

7T AT & A brE F S vF
T\ |

[l Anl % fAu 94 71 25, e
AT A\ |
T E A 4TS ] 2992 UE ThE |

1943 3 =MA F “F 7 907 8 =991 T4 = 0
A AT HATHE T 8 FEEEd 8 2 58

Toreqm st oo /fafs

-

L= 1] B~

(A) ==

(B) =5

(C) =N -

(D) HwMEE 93 {2
faerea :

(1) (A), (B), (D)

2) (B), (C), (D) -
& (A () (D)
@) (A) (B) (C)

Q3



45.

46.

Given below are two state
carcfully and choose the correct
the help of given options.

Statement (1) : :

ments. Read them

answer with

Hu'r_lg._cr brings about

poverty.

Statement (II) : Hunger is the only
indication of food
insecurity.

Options :

(1)  Both Statement (1) and Statement (I1) {

are false.

(2) Statement (I) is true but Statement (1) f

is false. }

(3)  Statement (I) is false but Statement (1) ;

is true. ‘
(4) Both Statement (I) and Statement (II)
are true.
Given below are two statements, one of them

Reason (R) :

0]
(1

is Assertion (A) and the other is Reason (R).
Read them carcfully and choose the correct
answer with the help of given options.

Assertion (A) : The social composition

along with the inability to |

insecurity.

The SCs, STs and some

sections of the OBCs, who

have either poor land-base

or very low land
productivity are prone to
food insecurity.

ptions :

) Both (A) and (R) are true but (R) is not

|
{
|
!
|
|
|
!
?
buy food plavs arole in food ]l
?
!
|
|
l
|
|
|
the correct explanation of (A). |
{

|

|

!

!

(2)  (A) is true but (R) is false.
(3)  (A) is false but (R) is true.
(4)  Both (A) and (R) are true and (R) is the
is the correct explanation of (A).
ErE
S
TGT-S0S-2023 '#H 19

45,

46.

Wﬂmﬂmmﬁ'ﬁﬁmﬁigq% ﬁTﬁQ
T faereti 1 eprn 71 3@ ZA R T B

A (1) A T A

‘{@'ﬂ'ﬁﬂfﬂﬂﬂ?i’ﬂ?ﬁlwm

zZl

wI (II) :
: - e '3:

(1) e (1) 3iT e (1) & 7o ¢

(2) @A (1) WE & W He (1) Ted 2

) mm(l)m%ﬁmm(umﬁ%t

G () i @ (11) a1 Fe €

9 2w feu U ¥ foei uw SHEHUT (A)
3 T T (R) §, F PFTES T8 d-TITfEU
&0 fasredi 1t Teradl § Hel 3w H WA B

ferer (A) : @ Y wiEd H, aEHea
F; |rel i JEa H @
Fi gfe [ e &1 HE
At €1

&HIUT (R) : sty snfa, srgfaa sHenfa

Euifea kR i fea e Dirde s
el € A fe I qfe =i
ESIECTI e i3t I IR 1

sfera 2m E)

faaea -

W

(A) 3T (R) ZFT 9@ & W (R), (A) T G
(A) 8@ T W (R) TTeTd

(A) TETd & T (R) @ T

(A) 3T (R) SFT | & 3l (R), (A) F TR
RN HTA ¢

Q3



47.

48.

Choose the correct statement from the
following,.
j
(A)  The proportion of people below poverty
line is same for all social groups and
economic categories in India.

(B)  Social groups which are most vulnerable

to poverty is scheduled caste and
scheduled tribe households.

|

(C)  Among the economic groups, the most

vulnerable groups are the rural
agricultural labour households and the

urban casual labour households.

Options :
(1) (B)and (©)

(2)  Only (A)

(3) Only (O

(4) (A) and (B)

Which of the following Statement is true
about ‘Perspective Plan” ?
(1) Equal importance is given to each goal
in these plans. |
(2) It comprises of specific goals and
general objectives. |
(3) Goals in these plans may be in conflict |
with each other. i
!
(4) They are for a duration of 5 Years. 5
EHrpE
SRIAT
TGT-S0S-2023 &%k 20

48.

47. frafafad § 9 G w7 F1 997 |

(A) ﬁ%ﬁm’t@rﬁﬁ%%aﬁwﬁmagﬁmiﬁ

URd § g1 gmifier 9@l SR anffar auif

R

(B) Hmﬁzﬁﬁﬂgﬁﬁﬁ%ﬁm@mﬁﬁ%é
Yo S 3R STy faa S % IfEn
gl

(C)  enfefer Wl # waifyer ergefera wge o
Ff Ffteh TR IR T8 1 Torgt
IR €1

faesey -

@ (B) ¥R (O)

(2) He (A)
@) I (C)

(4) (A) i (B)

‘g I’ & T § frefafae § 2 = W
FYH I © 7

(1) 37 Iesli § Yodeh o12d ol 99 Oed
feon sman 1

@y wud faftre @ i e segva v
AT

(3) T A % Ao UF-gH & ferdim H @
Tahd €|

(4) A 5ad 1 syaf F oo 3 ¥

Q3



49. Choose the correct answer from the
following :

(A) Thereisdisguised employment in urban
areas.

(B) Increase in unemployment is an
indicators of a depressed economy.

(C) The workforce population includes
people from 12 years to 59 years.

(D) Inthe case of the tertiary sector, various
new services are now appearing like
Bio-technology, information technology
and so on.

Options :

(1) (B)and (©)
() (B and (D)
(3) (A)and (D)
4) (A)and (B)
50. Fill in the blanks :

‘Physical Capital’ formation is a/an

(A) Economic Process

(B)

(C) Social Process

Technical Process

Options :
(1)
(2)
3)

(B) and (C)
(A) and (C)

Only (A)

(4) (A) and (B)

EIRSE
TGT-505-2023 5%5 21

49, Fefafed § & W& e & o ]

(A) et i e AT €1
Wﬁq@n‘ﬁuﬁmweﬁ@
g
wmﬁammmaﬁ%ﬁ
fort =g 12 & 59 7 ¥ & B

(B)

©)

50.
*iifee geit ' Fmio T 2

Q3



52.

|

I
I
I
I
|
!

Department of school education as per NEP |

2020 ?

(A) Ttis the apex-state level body in school
education.

(B) It will be involved with the provisions
and operations of schools.

(C) Tt will be responsible for overall
monitoring and policy making for
continued improvement of the public
education system.

Options :

(1) (B) and (C)

(2) (A)and (C)

(3) Only (A)

(4) (A)and (B)

Which of the following is true about “the
languages of India” project as per NEP
2020 ?

(A) 1t will be for grades VI-VIIL

(B) It will be part of assessment.

(C) In this, the students will learn to say
commonly spoken phrases and

sentences in every major language.

Options :
(1) (B)and (O)
(2) (A)and (C)
(3) Only (C)
(4) (A)and (B)

EIF;IEI

TGT-S0S-2023 &l

52.

I
|
|
|
I
I
|
|
|
I

I
I
!
|
!
I
I
|
!
|

|
I
I
I
I
I
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Which of the following is/are true about I 51. TAS W 2020 JTAR Tm'_vﬁ Toren faum & o

H frefafad § 9 %7 974 94 28 7

(A) Tg Tl foen ®§ wai= U9 W e
2l

(B) TE TEdl o WAMHI AR HAwEH § wiga
B

(C) Ie TrwiTer forem yomedl & fiat gum &
TR 3 |

faerea .

(1) (B) 3 (Q)

AT (A) ¥R (C)

(3) A (A)

(4) (A) 3(B)

U291, 2020 F HTER T A A 3fem”
IR F aR § fAefafEd d 5 aR o aa 22

(A) wzm}-!l-\*lllwazmﬁml

(B) T HeIiFA =1 fe=m zmm |

(C) 39 o B+l TH@ WMHA § WM a7 W

R IEERIN|

fareea

(1) (B) 3 (O)
J2) (&) #(Q)

(3) = (C)

(4)  (A) 3 (B)

Q3



53

M.

Tar.
*$0s. e
2023 =4S
S

Proposed by I
culture of reading across the country ? '

VEP 2020 for promoting the {

Development of enjoyable and

(A) _
in5pirational boaks only in Hindi {
Janguage.

(B) Establishment of public and school
Jibraries. '

© Development of digital libraries.

(D) Formation of National book promotion
policy-

Options *

1 B ©) and (D)
2 () (C) and (D)
3 (A), (B)and (D) |
@) (A) (B) and (C)

Which of the following is true about NEP
2020 ?

It is the first policy which talks about
providing breakfast in addition to mid-

day meal nationally.

(A)

(B) It modifies and restructures the school

education as 5+3+3+4 system. ,
(© Itfocuses on promotion of Sanskrit over
other Indian language.
Options :

M) (B) and ()
%) (A) and (@)
¥ oy 5)

]

|

|

5

!

|

!

i

(4) and (g) i
|

23

B

54.

Which of the following methods have been | 53. % & Tgh F1 WeF T T 5 ¥
- 21 T TEFIA T FEE 2 F A

.21, 2020 37 =i Ed E 3 7 @ A
SEditad {2 ?

(")k) W f?}:é.]. eIl {q q"fl{'::?‘ Iﬁ ;“-"I-:_l'"‘q"
T #l 9 |

(B) TEwF 03 faaed Tl 7] A

(C) fefaea e 7l faFd |
(D) T2E g HIeaTET Aid #1121

~

Tdehed :

oy ). (O FX (D)

@ (A) () #F (D)

(3) (A) (B) ¥R (D)

(4) (A, B FTQ
@éﬁrzozo‘?ﬁaﬁﬁﬁmf‘af@ﬁiféa‘ﬁm
Ta©?

7z T A & 91 e ' W THE

(A)
STeq F Fonan ARl 7 SgeE =04 =
ad ST €l

(B) 7z faamerd faanm 1 5+3+3+4 WOl @l &
=9 § Helifud #R gFied Sl z1

© 7% 51 SEG T F el § S0
= g 1 W5 ¢

fa&cd :

1) (B IO x

@ (A FROY

J3 w94 (B)

¢ A 1 (B)

Q3



55. Which among the following is true about | 55. ‘&Fd I Ao’ % oR H frefafes § §

56.

‘School Preparation Module’ ?
(A) Itis for all grade - I students.
(B) Itis for a duration of 3 months.

(C) It will be developed on a central mode
only by the NCERT for standardization. !

Options :

(1) (B)and (O)
(2) (A)and (C)
(3) Only (A)
(4) (A)and (B)

Given below are two statements, one of them i 56.

is Assertion (A) and the other is Reason (R).

Read them carefully and choose the correct
answer.

Assertion (A) : The powers given by the
constitution to the local
called

decentralisation of power.

bodies are

The basic idea behind
decentralisation is that

Reason (R) :
many issues and problems
can be dealt with locally.

Options :

(1) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(2) (A) is true but (R) is false.
(3) (A) is false but (R) is true.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

|
|
|
|
|
|
|
|
|
|
|

ErSE
TGT-S0S-2023 %%gi 24

FA-H AT &7
(A) T - 1% Wi ol ¥ f d
(B) 73 WEH i amafy & fow ¥

(C) Tahl TR X o o OF 9§ e &
ER FEr HE (TR) W € faehfad fam
Sl

forared :

(1) (B) ¥ (C)
2
(3) A (A)

(A) &R (O)
4) (A) 3R (B)

I 2 FeA fou e €, o w emfieRe (A)
3R g8 HIT (R) &, 5% SAHYEH ¢ 3R Fal
I FH =TI AL

AHTT (A) :

gy gr1 ved T fari
F1 wifeagl &1 G H1
fasr=iato Fed B 1

THTUT (R) : foFst % 90 giaK) |d
&1 T wE W W
afem &0 § & T B

famea .

(1) (A) 3R (R) HI T2 € W (R), (A) F T

SR A&l € |

2) (A)F& T W (R) T

(3) (A)erd & W (R) W ¥

(A) 3R (R) T T € &R (R), (A) Tt &R
SR T E |

Q3



57.

58.

ErpE
TGT-S0S-2023 é@ﬁ

Given below are two statements, one of them | 57. 1% 2 v faq mu %, forii T A (A)

is Assertion (A) and the other is Reason (R). '
Read them carefully and choose the correct
answer with the help of given options.
Assertion (A) : Presently, the popular form
of democracy is
representative democracy.
In this form of system the
majority has the right to
take decision on the behalf
of the people. Majority rule
also takes place through
elected representatives.
There are so many people
in the modern democratic

Reason (R) :

system of governance that
it is not possible for
everyone to sit together and *
make a collective decision
for everything.

Options :

(1) Both (A) and (R) are true but (R) is not

the correct explanation of (A).

{
(2) (A) is true but (R) is false. i
(3) (A) is false but (R) is true. i
(4) Both (A) and (R) are true (R) is the f

correct explanation of (A).

In the first-past-the-post system, the
candidate is declared the winner who |

is a member of the party that gets the |

1)

most votes in the country.

(2)
in the constituency.

(3) secures more than 50% votes and |
comes first.

(4) gets the most votes.

|
i
i
i
i
H
gets more votes than other candidates !
i
¥
{
1
i
¥
i
!
H
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58.

T faedl @1 wema @ wél ST H FA7 B

gdar gHg H AlEds &l

arfirenerT (A)
afed 9 ¥ ST Fe
Ak | TH N I
ﬁmaﬁaﬁ'{l‘q@ﬁ?ﬂ
Thge o 1 SR T €l
agad 1w T T
Sfafaferi % w9 S el
RUT(R):  endfE ewAIE ST
SyaEen ¥ a9 St anl e
# o g A % fore Torw! H
v & el ol "ol |
faerea : R
W(A)aiﬁ(n)aﬁué%ftrtg(n),(maﬁm
ATEAT TEl FL € |
2) (A) ¥ & T (R) o T |
(3) (A)TEd & 9 (R) HEl €|
@) (A) ¥R (R) I TR € IR (R), (A) FT T
A FLAl 7 |

TR -T-UTE YUITa! (S Had 20 921 S0d)
4 98 geanh fasa =ifoa fea s € s
.

(1) <0 ¥ Haifys 7d W L a9 I H

T A |

(2 TE-&7 & S IR & S 5 Bt
FAT € |

() 50% 9§ #fyew 7q afga FF 9Uq ™H
T AT 2

(4) HEitE e § ag S w2

Q3



59.

60.

61.

=
TGT-S0S-2023 %%

Given below are two statements read them
carefully and choose the correct answer with

the help of given options.
Statement (I) : The future of the country
depends on the work of the

rulers even more than the
work of the citizens.

Whatever work we do as
citizens also helps to
strengthen or weaken the
democracy of our country.

Statement (II) :

l 59.

Options :

(1) Both Statement (I) and Statement (IT)
are false.

(2) Statement (I) is true but Statement (II)
is false.

(3) Statement (I) is false but Statement (II)
is true.

(4) Both Statement (I) and Statement (II)
are true.

In which of the following circumstances, No 60.

fundamental right is being violated ?

(1) A leader of a state is preventing the
people of another state from working.

(2) A group is not allowed to open a
Telugu medium school in Delhi.

(3) The government is not promoting an
officer serving in the armed forces |
because that authority is a woman.

(4) A 15-year-old boy is working as a
labourer in a carpet factory.

Which of the following statement/s is/are | 61.

true about the Human Capital ? |

(A) Itis intangible. |

(B) It can be sold in market.

(C) It is inseparable from its owner.

(D) It is completely mobile in different
countries.

Options :

(1) (B)and (©)

(2 (A)and ©)

(3 (B)and (D)

“) (4) and (B)

26

A o e E, § e 78 R o

U faeedl 1 Yergar § el I A 7 B |

FOA (I) : W 1 fasy ARHT & HHHS G
o} STET IEHI & HHEGN W R
FRI

HYA (1) : W#ﬁhmma‘mﬂwm
€, % ¥t TR SV o cArha ] Hore
1 FYSR 991 H Heg FaT ¢ |

forehea
(1) e (1) 3 e (11) 1 T § 1

(2)
(3)
ol

e % 9 form aRfeafoal F foret difars SR

=1 &1 Tl 8 W@ T2

(1) el 7o 1 FE Fa1 TR T F A A

FH & G IS WL

foreht <9 TE %) feeell § Agy W K

e @ EIer et & & S @ T

WER U I § R fEm Al

Afga 8

& 15w$rmaﬂﬁt=rﬁﬁwﬁﬁmqﬁ
@B

‘g TS’ & i # frefated § § sE-ard

FHYT Ted & 7

(A) T e Bl

(B) 38 ISR H o= S TRl B

(C) 9% T Wl § AT B |

(D) T vare fafym= <o # qofa: frafu g

A (I) G § TG He (1) o &

Y (I) T € W R (1) T S

HUA (1) 3R e (1) 1 T €

(2)
(3)

Q3



62. Which of the following topics may be

explained to the students with the help of a
visit to the National Museum ?

(A)
(B)
©)

The concept of Time Line.
Idea of Primary and Secondary Sources.
Impact of Artificial Intelligence on early

industrial revolution.

(D) Socio-Economic condition of people of

different historical times.
Options :
1) (B),(©) (D)
2) (A) (©), D)
3) (A), (B), (D)
@ (&), (). (©

Given below are two statements, read them
carefully and choose the correct answer with
the help of given options.

Public interest litigations
have increased the power of
the judiciary to protect the
rights of the citizens.

63.

Statement (I) :

There was a case in the
Supreme Court regarding

Statement (II) :

undertrial prisoners which
became famous as the first
public interest litigation.

|

Options : !]
(1) Both Statement (I) and Statement (1) ‘
are false. !

(2) Statement (I) is true but Statement (II) J
is false. ]

(3) Statement (I) is false but Statement (II) I’
is true. j

(4) Both Statement (I) and Statement (II) !
|

are true.

EreE
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62. T HIETET 1 A 1 W & fernfd
forefataa & @ S o1 g waemn < w9 ¢ 7

THY @1 I ATURM |

wefia it wreafe il @l faErl
gt sieifie wifa W SAfeimREd
efersia 1 gua |

feafv=1 Aferarfaes e & il ol AT ST -
anfefe feafa |

fawea :
& ), © O
@ (@A) © D

(4)

(B)
©)

(D)

63. @ e fey Y T AR 9 S

o (1) :  SHTed At 3 AR 1l & SR
£t T T Y =T H
& g A 5

fommfi Sfedl 1 d@ W=
e H U oAl =l | S geed
SHfea e & w9 F 9fEs g |

weH (I0) :

faerca :

(1) e (1) 3R e (1) S Tem g1
(2) I (I) TE T WY FHAT (1) Terd B
(3) YA (I) Teld & T e (1) WE g1

4y U (1) 3N HeA (1) S WS 1

Q3



64. Which of the following resources/methods | 64. et Fanel ¥ g 9edl % AR H =4 &

may be used for discussing about the fee l"ami‘aliaaﬁ F frg G/ H 39

Harappan Civilization in Secondary fepan <1 Wl & 7

Classrooms ? '

(A) Seals of those times. a (A) 39 T & gL

(B) Visit to the museums. (B) HgTerdl &1 3 | N

(C) Books written during those times. (C) 38 9°H fordt T g |

Options : ? foremed :

(1) (B)and (C) (1) (B) 3R (Q)

(2) (A)and (Q) 5 @) (A) FR(O)

(3) Only (B) By Fd (B)

(4)  (A)and (B) (4) (A) 3R (B)

65. Which of the following statements is/are { 65. freferfaa woH § 9 ®F /49 9@t eg?

correct ?

(A) After 18 months of emergency, the i (A) 18 TE1 & IR % 15 1977 & SR
government decided to hold elections e # WK A A FA H e fean)
in January 1977.

(B) Morarji Desai was the Prime Minister (B) RIS 9% 1976-77 T Th T HE
from 1976-77, on behalf of a non- T ! TWH G FUEHA R
Congress party. i

(C) A party was formed under the | (C) Weied T" % Aqa H TF el oF% T
leadership of Jagjivan Ram, the Janata off, 39 UET 1AM Sal T A1)
party.

(D) Inthe Lok Sabha elections held after the (D) A F d EQ WEHE & gAE |
Emergency, the Janata Party and its | ST 9ET 21R 30k Wielt SEl Sl AREe
allies got 36 seats out of the total 542 £l Gl 542 Hidi ° | 36 €ie e
seats in the Lok Sabha.

Options : ferened : ‘

(1) (B)and () (1) (8 3R (Q)

(2) (C) and (D) @ (© (D)

(3) (A)and (D) (3) (A) ¥ (D)

4) (A)and (B) (4) (A) 3R (B)

66. Which of the following methods will be best | 66. HeATHF Fa § TG TR W Qe o

i S o S A S R R . R g e A S, B A A T

suited for discussing about the functioning VO o SRTHRTS & o H = & Tou F=fafaa
of Public Distribution System at local level in H 4 3 o fafy wod swge it 2

secondary classroom ?

(1) Book Discussion (1) e ==

(2) Debate competition Q) e-faar yiafm

(3) Visit to Ration Shop (2) T F A TS

(4) Story Telling (4) e g
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67.

EreE
TGT-S0S-2023 %

68.

Given below are two statements read them
carefully and choose the correct answer with
the help of given options. I

Statement (I) : The executive does not
consist only the President,
the Prime Minister or the
ministers, but the entire
administrative structure is

also included in it.

The head of the government
and his ministers are called
the political executive and

Statement (II) :

they are responsible for all

the policies of the

government.

Options :

(1) Both Statement (I) and Statement (1)
are false.

Statement (I) is true but Statement (II)

2
is false.

(3) Statement (1) is false but Statement (IT)
is true.

(4) Both Statement (I) and Statement (11)
are true.

Which of the following field visit will be the | 68,

most suitable for discussing about the
manufacturing industries in secondary

classrooms ?
(A) Taking students to a Wheat Field.

(B) Taking students to a Sugar Mill.

(C) Taking students to a call centre.
Options :

(1) (B)and ()

(2) Only (B)

(3) Only (O

(4) (A)and (B)

67. 3@ e e T E o emgeE w8 o T

aﬁmﬁmﬁaﬁwmwﬁl

HAA (1) : e 6 e weafd, FHEEA
7 Hisht @ 7 A afeeh ghe ST
STt gt o e ¥

wH A (1) :
mﬂﬁﬁmﬁfﬁﬁ?ﬂ%ﬁ%’ﬁhé
Wﬂﬁwﬂﬂﬁﬁf%mmﬁ
eagl

fasea : .

(1) mm(r)aq‘ﬁmm(n)aﬁnﬁﬂ%l

(2) EW(I)H%"T%*::I‘@EW(H)W%:

3) o (I) T ¥ WG e (1) T T

“w e (1) @it e (1) S FE €

mwﬁmmwaﬁﬁﬁﬁ_waﬁﬁ%aﬁﬁﬂ%ﬁ
foru FreAfafaa § @ S W1 &5 S gl ST
B ? '

(A) BTH & g % Gd H o S

(B) BT 1 <R vt A &

(C) B &1 T Fic F=L H & 511,
faeRea : |
(1) (B)¥R(C)

2y~ & (B)
(3) ad (C) x
(4) (A) @R (B)

Q3



69. Which of the following chart/graph can be | 69. F1eAfHer shefl # foredl % fafi= <1t wife Ty

used to depict the poverty lines of different |
countries of the world in secondary |
classroom ?

(1) Pictograph !
(2) Pie Chart

(3) Venn Chart

(4) Bar Graph

70. Given below are two statements, one of them

is Assertion (A) and the other is Reason (R). |
Read them carefully and choose the correct
answer with the help of given options.

Assertion (A) : Teachers mostly use written
or oral tests to measure the

understanding of learners in

Social Science classrooms.

the correct explanation of (A).

Reason (R) : Assessment tools like i
quizzes, drawing and plays |
can not be used at all in |
social science classrooms. |

|

Options : |

(1) Both (A) and (R) are true but (R) is not I

(2) (A) is true but (R) is false. I

(3) (A) is false but (R) is true, |

(4) Both (A) and (R) are true and (R) is the |

correct explanation of (A). I

71. Which of the following topics could be ! 71.
explained well with the help of map in a |
geography classroom ? !

(A) Shape of the Earth i

(B) Different countries around the world I

(C) Latitude and Longitude |

Options : |

(1) (B)and Q) |

(2) (A)and (C) |

(3) Only (A) |

(4) (A)and (B) |

Er5E
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70.

&1 v o fore frefafad 4 4 ford =rams &
ST feRd1 ST TR & ?

(1) Terere

() it

| SR

(4) @RUH

i 2 e fo M %, fo T sifiee (a)
R TEU AT (R) &, T A 9g 3R f5u
U fashedl &1 Ferdl | Wl It 1 97 HL |

forerer/forferent Tmrfas fagm
F1 e o forenferar s amg
I HITH & fag s fafaad
7 Hif e JET01 T ST F
gl

gyArad, feseen iR 92 59
4 qSTHEA ITFIO HT 94T
gmifas fagm &1 Faneii o

foegpet off =& faran 51 wapar

el

AT (A) :

T (R) :

famea :
(1) (A) R (R) 1 T & 9L (R), (A) F1 Tl

2f (A) T € T (R) TeE © )

(3) (A) T & W (R) WEl &1

(4)  (A) 3 (R) T T & 311 (R), (A) F1 TR
it el el

ST <l el W AAfeA &1 Jemd o Frefatad
4 9 o fawa (2ifoe) 1 wwmn s wa @2

(A) YT T AER |

(B) gfr Wt & fafi= gw
(C) & 3R 2wy
e .

A1) () ()

2)  (A) 3R (Q)

(3) HEA (A)

(4)  (A) 3T (B)

Q3



72.

[Elrs [
TGT-505-2023 1%

Read the following lines carefully.
“Ahmad is a rickshaw puller in Bangalore. He
has shifted from Jhumri Talail along with his 3
brothers, 2 sisters and old parents. He stays in
ajhuggi. The survival of all members of his family
depends on his daily earnings from pulling
rickshaw. However, he does not have a secured
employment and his earnings fluctuate every
day.”
Above lines can be used for discussing which
of the following topics related to Social
Science in secondary classroom ?
(A) Migration
(B) Food Security
(C) Economic System
(D) Family System
Options :
(1) (A)and (©)
) (&) ®) ©
3) (A) (B). (D)
(4) (A) and (B)

73. Given below are two statements read them

carefully and choose the correct answer with
the help of given options.
Statement (I) : With the declaration of

emergency, the federal

structure of distribution of |

powers remains suspended.

Statement (II) : In the condition of
emergency, the government
can ban (cancel) any or all
the fundamental rights or
curtail them.

Options :

(1) Both Statement (I) and Statement (II)

are false.

(2) Statement (I) is true but Statement (II)
is false. I

(3) Statement (I) is false but Statement (II) '
is true. '

(4) Both Statement (I) and Statement (II) ;
are true. i

31

72,

73.

forfetiaa dfedl S SmYEs UG | .
“ e AT F R o 81 9% 9797 3
el 2 e 3 g wr-aar 3 @ g aia
2 s &1 97 v g ¥ @A &1 I WA F
a3} gea @ Fa7-a aF R T 4
& are Sfer FE W AW F &1 Ee,
T3 T I G TR T & SR ! S
yfafeT gzt @l wa el

SRt i T SANT HeAfR e H Wi
e § Heiftua frefatee § & fe fama W
<1t % for o < Tha1 8 2

(A) W T

(B) G gl -

(C)  nftfer =

(D) UfER HIEd

faerea ;

(1) (A) RO

& (A (B). (©

(3) (A @), (D)

@) (A) 3R (B)

) 3w fau T E, 3% AFEe 9e AR faU
T ol @ WerEdl § W I H AT HL
STTASTET T =T & |1 € wifeRdl
¥ FZan = HHIY Br= AERIE a
T AYHTET Edl 2

For  (I) :

37T bl Feufd o R = @
et us 1en |t Hifcs AERI
G ek AT Hehdl & SA9a SHH Il
Tl & |

e (1) :

faemey
(1) A (1) 3w (1) SHI 7o B |

(2) @A (I) HE & W T (I1) Tod
(3) TRYT (1) TG T Y AT (1) T T

(@ HAA (1) 3R weA (11) I 7L E

Q3



74. Which of the following will be the most | 74.
suitable method to explain the process of |
election to the students ?

(1)  Asking students to write a report on the !
political parties of India. I

(2) Conducting the election for selection of
classroom representative.

(3) Conducting a seminar by a University
Professor on the process of party !
formulation.

(4) Showing a documentary on the
formulation of constitution. i

75. Suppose you are taking vour students of { 75
Secondary class to a nearby Park, Which of
the following topics of Social Sciences would
be relevant to be discussed during the visit ?

(A) Pollution

(B) Flora and Fauna

(©) Shape of Earth

Options :

(1) (B) and (C)

(2) Onlyv (A)

(3) Only (B)

4)  (A) and (B)

76. Choose the correct option from the | 76.
following :

(A) Manipur, Tripura and Meghalaya
became states in 1972 while Mizoram |
and Arunachal Pradesh were given |
statehood in 1987.

(B) The movement of ‘AASU” was against
illegal immigration, dominance of
Bengali and other people and l
enrolment of lakhs of immigrants in
voter list. i

(C) ‘North decreases everyday, south ]
increases day by day’ was a popular |
slogan of the Dravidian movement.

(D) ‘Operation Blue star” was launched by
the Government of India in December
1986.

Options : I

(1) (B) and ©

(2) (B) ) and (D)

@) (A and (D)

4 (A )and( )
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faenfefal &1 g9 & WiHA WRE § fa

frfafea ¥ @ =9 9@ fafy va g am?

(1) foaafell ¥ sRa & erFifas ol | o
fié faaa & foag e

_(2) e Aty % w9 g A SR

3) el fmfo wt wie W favafaemens &
TR gRT QAR ST STEsH |

(4) dfaum feior ) o gafas @

T ifu o9 wegfiss wu & oA faafia
U & e A A SR E | AT F QR W
fagm & freafafes # @ 99 @ favg w ==l
FT W TS 8 2

A) W '

EB} %‘?ﬁra@haﬁa

(C) Y=l T AHR

fawea

(1) (B) SR ()

(2) HIA (A)

(3) & (B)

U (A) R (B)
fFrefafaa fawaal ¥ 9 &t =1 9397 #1 :

(A) wigr, Fu ek dae 1072 ¥ T W
wfE A 3 STeoEe wew w1087
H TS W S T )

Y W RIS AN YA, Wmel 3R
311 T T Teem de Hagmal Yl N sl
YA 70 TS DN & s w

(B)

(€) 'SR A wem wm, < fe-fom wam

TR (A ST WU TS AR A

(D) 1986 % fedst v o yid TR A ¢ S
R IR o

fame

(1) (B k()

2 (B 3R (D)

) (A) 3R (D)

() (A 3R (B)

Q3



77.

78.

79,

7
TGT-SOS-2023 %‘%

‘What reasons did (] 77
JlE b 1w "W » v .
Gove rnment fve for ' f

the construction of a big dam 7’ '
The above question;secks to assess which ’

cognitive domain of the student ?

(1) Recall and knowledge

(2) Evaluation of Iéiﬁ\wlud;;o
(3) Analysis ol

(4)  Application of hmwlodgo

Choose the correct statement from the

following about judicial activism,
Statement (1) :  This has made the Judicial ]
system democratized and l

the executive as a resull has l

become accountable. l
Due to Judicial activism, the I
difference between the ]
functions of the legislature !'
executive and the judiciary I

has become clear.

Statement (II) :

Options : _ !
(1) Both Statement-(I) and Statement (II) |
are false. j
Statement (I) is true but Statement (II) ,

@)
is false. ’
(3) Statement (I) is false but Statement (II) '
is true. i
(4) Both Statement (I) and Statement (11) ,
are true. [

That statement of the constitution in which
a country clearly states all the basic values

and concepts of its constitution :

|
l
|
|
|
|
!
I
|
I

(1) Act

(2) Section
(3) Law

(4)  Preamble

[olsd0
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79.

‘o ai i fmtn & feu wwr A oen H
fau 2’

SR WY A 7 R AT A 1 AT
T &2

0w

(2) S T GEEA
3) fagemm
(4) 3 FA

iy T o wn  fan o frefefad Fol

i 9 TR o A HL
WWWWWHWWW

e (I) : el
# aijy rfmfam @Al @1 T
a7 et e

o (1) : =ifasw afFAan 7 fau]fv:rzm_,
3 = w1 2far P e

fearaney

(1) ®A (1) 3§ eI (1) S TTad € |

(2) YA () &I © W HIT (I1) TTTd € 1

(3) e (1) TTerd & TG e (1) Hel €
(A7 R (1) SR e (1) 2 WE
Tfaym %1 @1 FaF fomd e 2w o wfaum

& qit gfarEt gedl @ srEauromE w1 e 2
YFeaie: o

(1) sfufqam
(2) =W

(3) A .
(4" wEET

Q3



80.

81.

“The late 1980’s saw some very important i

changes that had a profound impact on our |

future politics”.

Choose the correct option from the |

following.
(A)
politics.
(B)
structural adjustment programme

known as economic reform.

The congress got 297 seats in the 1989's
Lok Sabha election (general election).

(D) Narsimha Rao was elected Prime
Minister by the Congress in 1989.

Options :

(1) (B) and (C)

(@ (A)and ()

(3) (A)and (D)

(4) (A) and (B)

Among the following persons, who all have
participated in international trade ?
(A) An Afghan person visiting Delhi for

medical treatment.

(B) An Uzbek clothes trader purchasing
garments from a manufacturer in
Noida.

A Person of Indian Origin (PIO) from
Canada visiting Rajasthan for a holiday

to learn about their heritage.

Options :

(1) Only (B) and (C)
(2) Only (A) and ©
(3) (A, (B) and (C)
(4) Only (A) and (B)

TGT-S0S-2023 % :

Rise of “Mandal Issue’ in national

Various governments launched a i

|
|
|
|
|

80.

81.

1980 F TUF & MR F T ¥ FT Weg
eyl aeed A, TR SR A1 i T
TR A gL

frefafiad agadl 3 9 et &1 997 $i |

(A) T TSI # CHEd qE,' 1 3¢ g

fafir @Rl 3 elErd G9ESH SRET
AT ST eTfis GUR & A A T

(B)

1989 % EATFTYT % YA1d T HIUF I 297
e ra g2 |

1989 § =RfHe TG = FIE TR FHHEA
AT

ICETR

<) (B) ¥R ()

2) (A) ¥R (Q)

@) (A) 3R (D)

(@) (A) ()
fAfataa @ 8 8 f5=2iR o =R |
YRTERT 1 & ?

(A) T FEH Al = feee H 3o & fou
T

T IS HIS AWK S Awer § Fofa
¥ w9l TlE @ T

(B)

(C) YRAE 5@ # TF = (PIO) FAreT ¥
T il F aman & a5] =1 slie F an

H S 7
faeea :
(1) e (B) 3R (C)
(2) FEa (A) 3R (C)
B3)  (A). (B) 3R (Q)

);PY FAA (A) 3R (B)

Q3



82.

83.

84.

& EI
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On a geological time scale of Epochs, when | 82.

did Homosapiens arrive ?

(1) Oligocene
(2) Miocene
(3) Pleistocene
(4) Palacocene

Given below are hypothetical examples of
resources with their categorisation. Which
of the pairs are correctly matched ?

(A) ‘Four hundred nautical miles from the
Indian coastline, a huge reserve of fossil

oil deposits are found” : National and

Developed resource. i

(B) ‘There is a possibility for tapping into i
energy generated by the cells of a |
human body to light up a person’s |
surrounding’ : Potential-Biotic resource. |
Options : !
(1) Only (A) |
(2) Only (B) :
(3) Both are incorrectly matched i
(4) (A) and (B) both are correctly matched }

!

Match the physiographic features with the |
physiographic divisions. l
(a) Duns (i)  The Indian !
Desert !

(b) Molassis basin (i)  The Northern i
Mountains |

(c) Barchans (ii) The Eastern |
Hills é

Options : i
(1) (a)-(iii), (b)-(i), (c)-(ii) ;
(2)  (a)-(ii), (b)-(iii), (c)-(i) ’.
3)  (a)-(ii), (b)-Gi), (0)-(ii) :
(4)  (a)-(i), (b)-(iii, (c)-(ii) |
35

83.

84.

Tl YA FIARA AT F S

(1) @
(2) AT
(3) e
4y T

T o wfrerfeT SEET S A & e
iy fam T 4 FA A1 A €7

T #i faEfad JaEA |

(A)

reft HorE 7 T T T Fl RIS
35 f St 1 29T R AR o -
g AR T H e S " e
HYre T HEHEA |

(B)

ia'ﬁtﬂ 5
(1) Fa (A)
(2) =9 (B)

(@ (A) T (B) ZA AT
e Al =1 faem gaFfas =2 1 #:L

(a) = (i) GEAA HEEIA
(b) TR A (i) I FEAEen
O mEn G v
fase -

(1) (a)-(iii), (b)-(i), (c)-(ii)
L (a)-(ii), (b)-iii), (c)-(i)
(3)  (a)-(ii), (b)-(i), (c)-(iii)
(4)  (a)-(i), (b)-(iii), (c)-(ii)

Q3



85. Consider the following statements on salinity | 85. Bl gRI @0 T few mu Frafafed womE w
by students. | famm & | . .
(A) "Water is equally salty across the | (A) 'S 1 AV HETEIR H URHAE ©
world’s oceans’. I
(B) ‘Salinity increases with depth’. l (B) "R F Ty waural of Ef?é?‘ﬁ STt &'
(C) ’Salinity increases on the surface also ’ (®) ‘grofteRtor & SRt Hdg W A9V 95
because of evaporation’. | St e’
| TEI & S WX H FJAAH STed 9 T6

Arrange the understanding level of the

students on the topic starting from the one Hd U HA T T |
who is least clear.
Options : fereheq
(1) (A), (B), (© (1) (A) (B), (O
(2) (&), (©), (B) 2)  (A), (©), (B)
G)  (B), (A), (© 3) (B), (A). (O
4) (. (B). (A) 4) (©). (B), (A)
86.  Which of the following is/are true about | 86. F=fefEa & & el & =i § 71 Wt 7
Globe ?
(A) Itis a true model of Earth. (A) T geEt 1 T arEfas gfaey €1
(B) It does not comprise of imaginary lines, (B) 9 hTeqfTeR W@t iy 78l gl €, forren
which are used to locate position. | I feafa =1 gar @ % e fama st
i %l
(C) The countries, continents and oceans ; (C) eira W<, Werfgui IR Wer R % 3%
are not shown in their actual size on | Ti(aeh SATRR | 7él fa@mn S g |
the globe. ]
Options : | faca :
(1) (B) and (C) | (1) (B) IR (C)
(2) (A)and (O | @ (A Er(©Q
(3) Only (A) | (3) HEe (A)
(4) (A)and (B) i (4) (A 3R (B)
87. Match cropping season with the crops : ] 87. =1 yr= ?ﬁéﬂ o frem el 9 =i
Column - A Column - B ! AT - A hieH - B
(a) Kharif (i) Fodder | (a) EU® () =
(b) Rabi (i) Cotton ] (b) T (i) U™
(¢) Zaid (iii) Mustard | (c) ¥R (i) wTE
Options : | faeeu
(1) (a)-(i), (b)-(i), ()-(ii) | M) @), o) { ), (0)-(ii)
@) (@), (O)-0), (©)-Gii) | @ @) ( (i)
@) (@)-Gii), B)-Gi), ©)-6) | O @ i (9, €0
) (@)-(i), (b)-(ii), (©)-(i) b @) (-G, ( (m (0)-(3)
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88. Which of the following statements are true
about the Drainage System of the rivers ?

(A) The drainage pattern resembling the
branches of a tree is known as
‘dendritic’.

(B) The drainage pattern of rivers
originating from hill is known as
‘radial’.

(C) When the primary tributaries of rivers
flow parallel to each other and
secondary tributaries join them at right
angles, the pattern is known as
‘centripetal’.

(D) When the rivers discharge their waters
from all directions in a lake or
depression, the pattern is known as !
“trellis”. E

Options :

(1) (B) and (C)

(2) (©) and (A)

(3) (A)and (D)

(4) (A)and (B)

89. Which of the following States or Union j 89.

Territories has zero percent forest area ?

(1) Pondicherry

(2) Chandigarh

(3) Lakshadweep

(4) Goa !

ErE
TGT-S0S-2023 % 37

88, = 1§ @ F Q s srgar whwew % @ A

WA E?

S avare whREy e i wrEsd AT

*) 21
&, 3% ‘garER ' wiawd Fel S

St ot efr @ e ef R
¥ st & T wfred @ ' RE faE
el AT e |

(B)

" aiaR Fadl &
aﬂg@?ﬁm@@%
a umqi‘aﬁa‘-ﬁ?ﬂ“*"‘" . ferer
5 < o whew @ arfpEd | AfaEd FE

SATE |

(©)

it fenaii @ el e fovell AT
o £ ferfa it ¥, 1 T Tere A
' fer’ TRRed Fel S €|

(D)

fareea :
1) (B R (Q
(2)
©)

(4)

(C) 3R (A)
(A) ¥R (D)
(A) 3R (B)

frafafaa ¥ 9 f5g w09 o1 &% wfeg oewr &
I fged 99 & § 2

(1) vwifesd
(2) e
(3 Y
(4) &

Q3



90. Given below are two statements. Read them
carefully and choose the correct answer with
the help of given codes :

Statement (I) : Differences in Air pressure

causes reversal in the

= @ e fRu e ¥ 3% SFyEe 9e SR fu
T SIS I GEEal A Tat ST H 957 H

FoA (1) : agE™ ¥ A= AEgE g6l F
SR T HRYT 41 ¢ |

direction of monsoon
winds.

Statement (II) : The wvariations in the
atmospheric pressure closer
to the surface of the Earth
plays a crucial role in the
making of upper air

HUT (1) : et I Hag & HU & AgASAIT
cad § a1 93 a1 16 il 3
H weerqt syfet v €1

| 90
|
|
|
|
!
|
5
§
?
5
|

pressure,
Options : famwmea
(1) Both Statement (I) and Statement (II) | (1) I (I) 3R HYA (11) T TTed €1
are false. :
(2) Statement (I) is true, but Statement (II) 2) U (I) TR ¥, W wmE (1) TR ¥\
is false. .
(3) Statement (I) is false, but Statement (II) ' (3) e (I) T ¥, TR A (1) T T
is true. ) .
(4) Both Statement (I) and Statement (II) (4) e (1) 3R A (1) T W T
are true.
91. The economic strength of a country is | 91. frtum ofieaema & foEw
measured by the development of : i T AT S €L '
(1) Informal industries ()" SO Eﬁl’ﬂ
(2) Agricultural activities ) =iy Tfafafemn
(3) manufacturing industries i (3) Tafmi sam
(4) Urban services } (4) vl Har
92. Which of the following is/are the main | 92. Frefafad ¥ ¥ sR-ard feaes 9m ® 9{574
reason/s for the occurrence of earthquakes | 3T 1 & HRT 878 ? '
along the Himalayan Arch ?
(A) Movement of Indian plate towards | (A)  zfea wie =1 <y g <fior-ufves
south and southwest direction. &1 3 g
(B) Obstruction of movement of Indian

(B) X iz g fea wie i i # Al
plate by Eurasian plate. [ '

(C) Release of the accumulated energy and |

| (O ¥em ok Rfrn e S A @
stress resulting from breaking of lock 1 Y IO S IR T 1 e
between Indian and Eurasian Plate. |

Options : ? e

(1)  (B) and (C) % (1) (B) 3R (Q)

() (&) and () i @O WskE

(3) Only (B) | (3) Faa (B)

4 A) and (B) .

) (A) a;r;j;EI @) (A) 3R (B)
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93, Which of the following is/are true about | 93. *wmfua =i’ % @i # fretfafma 4 # #0 A3
‘Reserved Forests’ ? ; A L ?
(A) 37w E gl €

(A)  They have full degree of protection.
37 A & wft afafane sfbm 2 e

(B)  All activities are prohibited in that area (B) ;
unless permitted by the government. B - - s E G LA Aﬂ'ﬂ‘f’l q 7
(C) They are notified under Indian Forest (C) 3% wad wrEd a7 sifufag & ATE 2
Act only. sfgfaa fFa 5 €1
faaea

Options :
(1) (B) M (C)

2) (A) 3 (©)

(1) (B) and (C)

(2)  (A)and (C)

(3)  Only (A) (3) wHad (A) N

(4) (A) and (B) () (A) 3T (B)

04, =1 T fau o E o ATIgES g 3T 190

94. Given below are two statements. Read them & ¥ =
M FIES H Hedal 9 "Wel 39 w1 T B

carefully and choose the correct answer with
the help of given codes.
HYA (1) : W 99Fd 1 wi=a, TH JEH A

Statement (I) : The Gram Panchayat
I‘Iv‘r—] :'r-!(:”.f ?_ a[ ?’ |

Secretary, 1s also the
Secretary of the Gram |
Sabha.
wUA (11) - Afga #1 9@ 78 2 I/ TR

Statement (II) : Secretary is not elected, he/ |
s faga fFm s 2

she is appointed by the |

government,

|
|
|
!
l
I
|
|
|
!
|
|
|
|
1
!
|
!
|
I
|
|
!
!
|
|

faeea :

1) &h9H (1) 3 @ (1) 291 7o €

Options :
(1) Both Statement (I) and Statement (I1) |
are false.

(2) Statement (I) is true, but Statement (I1) (2) @wYA (1) HWEl T, Tig YA (I1) T4 B

is false,
is true.

|
I
(3)  Statement (I) is false, but Statement (11) | (3) TheM (1) TEA €, W WA (1) wal TN
|
.l

(4) Both Statement (I) and Statement (I1) | (4) e (1) 3T e (1) A FE F1 O
' |

are lrue.

14
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95.

96.

97.

[=]r:
e N
TGT-S0S-2023 r’ﬁ’é}x

In federalism :

(1) There is more than one level of
government in the country.

(2)  All states have autonomy to decide on I
all the issues.

(3)  On questions of national importance,
some states have to follow the rules
made by the central government.

(4)  The states are only the representatives

of the central government.

‘Democracy” is a better option in politics
because :

(A) It enhances the dignity of a person.

(B) Tt promotes equality among citizens.

(C) It satisfies the wants of every
individual.

Options :

(1) (B) and (C)

(2) (A)and (C)

(3) Only (B)

(#) (A) and (B)

Which of the following statements is/are
correct about the Constituent Assembly ?

Constitution had 299 members.
Mahatma Gandhi was not a member

(B)

i
]
(A) The assembly that wrote the Indian I

of the Constituent Assembly. |

(C) Serious discussions in the Constituent I
Assembly have been published in |
volumes under the name ‘Constituent I
Assembly Debates’, l

Options : i

(1) (B) and (C) I

(2) (A) and (C) |

(3) (A), (B) and () |

(4) (A) and (B) I

AEL

{ 95.

96.

HHEE A
(V¥ <OETF R TR T OSSN

gy

Eall

2) = T T G W R oy 5
nggi

(B3) UEE Hed & §aIdl W §8 T3 71 %
TUFR gR&A1C T 951 1 741 92 £

(4) TF F90 F%49 &R 5 a4 6 21

"SGR TSI e faweq &, FiE -

(A) =2 S =1 TR Fi T

(B) I% ARG H HAMGl F1 52= Sa1 €1
(C) T W =S =l T231 71 giq Tal 81
fasea :

(1) (B) IR (C)

@ (&) IW(Q

(3) e (B)

A (A) 3R (B)

97. EieUR a9 & I-H 7= § ¥ =9 S 59

e ©?
(A)  IRGIE Siaum faes ot 391 F 200 554
O
(B) WEIH! T Wigu= VW ¥ He= & 1
(C) dfaum w1 # 1 s TR Ty =
'Hieg= w¥ad feaz' T | y=vE
fFa T
faaea
(1) (B) 3R (Q)
(2) (A) R (C)
« (A, (B) R (©Q
@) (A) 3R (B

Q3



98.  Given below are two statements. Read them [ 98. AR Q o fau u E, g g g o T
T I Y TR F Het et Hl 7 B

carefully and choose the correct answer with |

the help of given codes. I

Statement (1) :  Nepal was a Hindu state in I
the past and was a l
constitutional monarchy for

many yvears in the modern

|
l
period. }
Statement (1) : In 2006, there were |
nationwide pro-democracy |
demonstrations in Nepal, '
but following which the
King was reinstated.
Options : |
(1) Both Statement (I) and Statement (II) i
are false.
(2) Statement (I) is true, but Statement (II)
is false.
(3) Statement (I) is false, but Statement (I1)
is true.
(4) Both Statement (I) and Statement (I)

are true.

99.  Which of the following types of justice is
discussed in the Preamble of the Indian
Constitution ?

(1) Social and Economic Justice
(2)  Seocial and Political Justice
(3)  Economic, Political and Social Justice

(#) Social and Cultural Justice

100. The supreme law of the country, which
contains the fundamental laws governing the
politics and society of a country, is called :
(1) Constitution
(2) Preamble
(3) Fundamental Rights
(4)  Ordinance

|
|
|
|
|
|
|
|
|
!
|
|
|
|
|
|
|
|
|

e
TGT-50S-2023 3% a1

U (1) ;o o § e faeg T A1 AT

smyfre I § @ wel % T

BERIREREE ATl
e (11) : T 2006 F A9 H émamﬁ GIEE]
gaef7 yeui gu W fowe o T
] arfug S T4 |
: e
(1) e (1) 3R HA (1) AT e € |
@) EEW(I)E@%,W@EEW(II)W%I
3) a?mmnaa%.qigmm(mﬂ?ﬁ%’l
(4) @ (1) 3R e (11) S FE

99,  YRA™ Gfaym # gEa ¥ fAefatas § |

8 YHR & =™ F] =9 H@l © 2

(1) wmifses ud sqfefs =

(2) wmfas ud asAfas =

By enffes, Iemfae wd ariss =
() | we ipias =

100. W 1 WA= FrE, S e Q@ aeHia
3R WIS i A e Hifes F A
EaGAE

NOREIELIE

(2) vEET .
() wifas sifier
() TRy

Q3



101. In the first half of the 20t century, what was | 101. 204 Tt & yatd 0 =1 9 anyfas Uﬁ geak

considered necessary for developing modern I

agriculture in Russia and industrial
farming ?

(A) “Eliminating kulaks’,

(B) Taking away land from small and
medium farmers and handing it over
to big farmers. |
(€)  Offering large scale loans to the ‘Kulaks’
by the state.

(D) Taking away land from peasantls, and
establishing state-controlled large
farms.

Options :

(1)  (B)and (C)
(2) (A)and (D)
(3) (B) and (D)
(4) (A)and (B) |

102. Which among the following is/are true about

Marx’s ideas ?

(A) Capitalists own the capital invested in |
factories and the profit of capitalists is |
produced by the labour of workers. |

(B) The condition of workers could not ]
improve as long as this profit was |
accumulated by private capitalists. ]

(C) Workers have to construct a radical !
society where all properties will be {
privately controlled. |

(D) A communist society was the natural |
society of the future, !

Options : |

(M @) )0 |

@ (&) @), D) %

@) (A) (©, D) i

) (A ®.© |

ErGE
TGT-S0S-2023 Bt 42

H S I 9 Y] A eI 4 shenfrr
F & feru fe =il 61 sl A T ?

(A) "kl H AEAT FE
(B) 1 31 wor st o ferarl 4 st Fia

(C) T gH "FerRi | H geq T WO

IYH B |

(D) T @1 st wat T Frreifora famerenra
A A |

faerea

(1) (B) &R (Q)
(2) (A) ¥R (D)
3y (B) ¥R (D)
(4) (A) ¥R (B)

102. FAd A9 5 i S an i Pnad 87

(A) TRl & it it o Gsfrafa = wnfira
H A a2 |

(B) & % il feifq z@ g @ g
A S T o Wl @ feafd § gum
Tl & TR e |

(C) wisIgl = U srer Yz gars 1 faf
HE B e wrl wofa w et W
[RRELET

(D) FPIfe wmrst &t wfaer o T & |

(1) (8), ©, (D)
@ (A), ), (D)
®) (A ©, (D)
@) (A) (B),

Q3
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103. Below are two statements, one of them is

Assertion (A) and the other is Reason (R).
Read them carefully and choose the correct
answer with the help of given options.

Assertion (A) : When the Bolsheviks
ordered land redistribution,
the Russian army began to

break up.

Soldiers
peasants. They wished to
go  home the
redistribution and deserted.

Reason (R) : were mostly

for

Options :

(1) Both (A) and (R) are true but (R) is not

the correct explanation of (A).

(2) (A) is true but (R) is false.
(3) (A) is false but (R) is true.
(4) Both (A) and (R) are true and (R) is the

correct explanation of (A).

104. Choose the correct statement from the

following :

(1)

The League of Nations was founded as
a successor to the United Nations (UN).

The League of Nations tried to achieve
what the “United Nations’ could not

between the two World Wars.

The United Nations objective was to
prevent international conflict and to
facilitate co-operation among states.

)

After the 2" World War

international organisation called

an

(4)

‘League of Nations” was formed to settle
conflict of global level.

0] 540

{ 103. 791 2 FeA feu wu € o uw Afuawe (A)

A e e et S L e A AL | S - . St et

43

104.

3 qH T (R) ¥, 3¢ wAMgET 7€ 1 a8
gU foedl =1 Wema § Gl 3 1 997 Hl

W diesifaml 4 FHA F

ATHRST (A) : !
QT =1 e fean w6
A1 227

T (R) : e faame e 1 a
gfngﬁﬁw?ﬁﬁfqmm
Gl

faaea:

(1) (A) @ (R) EF1 WA TG (R), (4) FT

ATEAT TE FHE |

(2) (A)T& & T (R) T €

(3) (A) A € W (R) WEl €1

4) (A) R (R) FE T T 2R (R), (A) F Tl

AT FAT B |

HYH U HY F SAUTFHRT F B9 F o7

(1)

<1 fava 751 & <= Sy U 99 S 99
A 91 39 W fe@me # Fiem = fm
AT A9 H |

TIH U2 H9 1 IgL9A HAAEE e
F TFA AT UL & =9 Tedm F= TR
femn o) ‘

T et A1 el AT F9E

@

(4)
-

Q3



105. Below are two statements, one of them is | 105. 9 2 Y fou o € A e sy (A
Assertion (A) and the other is Reason (R). | 3 GEU H/WT (R) €, §7¢ PAFYe 98 iR fay

Read them carefully and choose the correct ; B¢ faereul ot Weraar @ Tel 3w FH T F:)

answer with the help of given options.

Assertion (A) : A large group among the ITHRET (A) :  SIhIfeH] o T oS o7 7 7l
Jacobins decided to start ] FTR St TWE URIER odl
wearing long  striped A e 1 1o feram

trousers similar to those
worn by dock workers.

Reason (R) :  This was to set themselves I (R) : Tl S=17 GHN & FyFeeE
apart from the fashionable 1f, @R 9 Hﬁ T Ted
sections of the society, l WM 9Tt q=y (¥=11) 9T
especially nobles, who wore Eﬂ@f}_cﬁiﬁ ﬁ@'c."m':‘r AT FE
knee breeches. & fou feam

Options : fawea -

(1) Both (A) and (R) are true but (R) is not | (1) (A) 3R (R) S W& € W (R), (A) =1 Tl

the correct explanation of (A). AT T HI & |

(2)  (A) is true but (R) is false. 2) (A) W& T WY (R) T € |

(3)  (A) is false but (R) is true. | (3) (A) T § 9 (R) T T

(4)  Both (A) and (R) are true and (R) is the ! @~ (A) 3R (R) S & % 3R (R), (A) Tl FEI

correct explanation of (A). 1 A FHT B
106. Below are two statements, read them E 106. == < e fgg Mo g, Eid EpcED 'q% 3R feg
carefully and choose the correct answer with i TL faeped @) Geral ¥ Tl ST R =9 Hi |
the help of given options. ;

Statement (I) : The National Social i GUF (I): 1887 T T FH F TH THF
Conference as an adjunct i W%Wﬁﬂ@ﬂm‘?ﬁm
body to the National ! Y TATTT St 75 |
Congress was created in I
1887. |

Statement (II) : The reform movement I he (1) : 'Fj}ﬂ'l'{ Wﬁﬂ@ﬁ %ﬂwﬁﬁ
essentially attempted to i Hed R sTaR-faur # i 9
bring changes in Hindu ! I A ok A R
social organisation and i
practice from within. l

Options : § famey . ) N

(1) Both statement (I) and statement (II) | (1) e (1) 3R e (11) ST e €

are false. § '
(2) Statement (I) is true but statement (II) | (2) I () TEl & Wy HAT (1) T €
is false. ] R

(3)  Statement (1) is false but statement (I1) | (3) e (1) T § W He (1) T €

is true. i . )

(4) Both statement (I) and statement (II) | (e (1) SR e (1) 3w T

are true. i
EreE
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107. Which of the following statements are true

108.

about the French middle class ?
(A) The 18" century witnessed the |

emergence of social groups, termed as
the middle class.

(B) In the 18™ century, the middle class
earned immense wealth through an
expanding overseas trade and the
production of woollen and silk textiles.

(C)  The rich people of France were the only
buyers of the woollen and silk textiles
produced.

(D) The emerging middle class in the 18" ]
century believed that a person’s social |
position must depend on his wealth not |
the privilege.

Options :

(1) (B) and (C)

() (A)and (D)

(3) (B) and (D)

(4) (A)and (B) |
Below are two statements read them carefully

and choose the correct answer.
Statement (I) : The Bastille was hated by
all, because it stood for the

despotic power of the King.

Statement (II) : the French

During

revolution, the Bastille
fortress was preserved so
that the history of social
inequality would remain in

the memory of the people.

Options :

(1) Both statement (I) and statement (II)
are false.

(2)
is false.

(3) Statement (I) is false but statement (II)
is true.

(4) Both statement (I) and statement (II)

|
E
}
|
|
l
|
|
Statement (I) is true but statement (II) i
|
|
|
are true. il

EIRGE
TGT-S0S-2023 %
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107. %9 & HEAW 9iig % 9§ @ @(h) wE

108.

| 8?2
(A) oTBREEl wel H Uk g HYE A I
gor ford g anf =per T |
(B) 18°T W&t & weA o ¥ WHEURIA AR 3N
St o Yoreht 9 3 Seared | SR Hafd
St =l |
(C) wefad et iR Yo HUS F CHAA
TieeR g % Tg A @ 91
(D) 187wt & sfed 2 @l e At A =
o fop et ot =afaa 1 grASish efAd
zmammgga-ﬂ’mmﬁa‘?ﬁwmm‘
BT 9IET |
fererey -
(1), (B) ¥ (C)
(A) ¥R (D)
(3) (B) ¥R (D)
(4) (A) T (B)
A @1 o fag e €, 3% samyEe 98 S wél
I A FTT HH|
e (1) :  HuR & Figw vl = wdiew en
T R ol |
R (1) : WG Shifd % SR arsdie & faer
&1 giferd @ @i wmrfees
ST =1 3faerd @it eyt o
T W
faemea
(1) R (1) 3R KA (1) ST Tord ¥

(2) AT (I) W T T HAA (1) T T |

R (1) T € TG HAF (1) T 2 |

_—

HUA (I) 3R e (11) 1 Ter &

Q3



109.

110.

TGT-505-2023 e

Why did Hitler choose war to get out of the

economic crisis ? Choose the most

appropriate reason from the following.
(1) His first goal was towards expanding
national boundaries.

(2) He wanted to kill more and more
people in his hatred towards those who
came in his way.

(3) He wanted accumulation of maximum
resources while expanding territory.

(4) He was used to fighting,

Which statement(s) is/are true about Russia
in the late 19" and early 20™ centuries ?

(A) Nobles got their power and position
through their local popularity.
(B) In Russia, peasants wanted the land of
the nobles to be given to them.
!
(C) Russian peasants from time to time !
handed over all the land to their |
commune (mir). |
(D) Generally commune (mir) divided the !

land according to the status of the

individual familics.

Options :

(1) (B) and (©)

(2) (A)and (D)

(3) (B)and (D)

(4) (A)and (B) |
ErE

=

46

109. fieer 3 anfde Hahe @ frved & fau gg 3

110.

ferehey i 917 Frafafad H 9 gaifoes 3o
R H FIT |

(1 ST el 1 faedR L1 SHeAl Ha99y

e o |

(2) 1 3G T H o7 W@ & I YOIk FHRO
A 1SN | SIE1 Al 1 Hid & H1E SarAl
=TT o |

(3) 9% TKIF " F1 R #d gT e

Y ST G4 Sehgl Al el o7 |

(4) o8 g5 HC H A 91

194t T & e 3R 2041 T % @S F w9

F Hey o P Y FYF WA T ?

(A) Fere SR T S i S i
T2 oY I8 S TSIl S T8 H ol

(B) w9 F fhum =Rd & o @i % A
B frami & == =ie g s

(C) wH! foram SHa-To W A9H W SHA
Y A (HIR) 1 |9 Sq )

(D) WHROW:, FRE () T IEr
tfaga & fegm @ faruml ®1 sofi ared
o

faemeq :

(1) (8) 3R (©)

) (A) 3R (D)

() (B) (D)

(4)  (A) 3T (B)

Q3



111. Why in the late 18h century at many places | 111. 18 f |l & onfER ¥ =mrer # @rga AN Tl A

in Bengal, weavers deserted villages and TR T TG DI TR S8 FearaT L Y ?
migrated ?
(A) Due to clash between weavers and (A) TR R A 6 == TR % HR I
gomasthas. ' .
(B) Due to the punishment given to the (B) HIIEHI W R 7 g 1 feafa | TETE
weavers by the gomasthas in case the ER1 AR hl il & & HR|
supplies were delayed.

(€) Weavers could not sell their goods to © THO | I @A o RO AR G AT
anyone else because of taking advance fereft it <A1 =t = ekl 41
from the company.

(D)  Due to gomasthas, preventing weavers (D) W BRI AR ! HiT & F | TR
from doing agricultural work. ST % T |

Options : faerey

(1) (B), (Q), (D) 1  (B), (O). (D)

(2) (A), (B), (D) (2) (A), (B), (D)

@) (A), (), (D) (3) (A). (O, (D)

@) (A (B) (©) ) (A) (B) ©

112. By the time of Dalhousie’s resignation, the | 112. SelSl & g ™M & W99 9% WG fawma
British imperialist forces had conquered vast fafSia y@s w fafon wmmeEE: ufawm 3 T U
territory of Indian land and created a system e g5t = fmir fora foeg

of governance that :

(A) Ended the anarchy spread across the (A) <o H 18+ el A el g8 eRTSTRdaT W 37
country in the 18" century. S

(B) Politically united the people of India. (B) wrd < franfaal =it xrsrifies wepan =1 famioy

: e . :

(©) Became an empire incomparable in (C) TH T WuRg & RRIRE] iﬁ S fawn,
term of expansion, opulence and e qen |t w5 g H 3T o |
resources.

(D) Because of its size became (D) ey, 3HE o AHR & HR, FHieT &
unmanageable. ™ o |

Options : fawea .

(1) (B). (C). (D) (1) (B), (O), (D)

@ (A ©, (D) (2) (A) (), (D)

3) (A). (B), (D) )

(A), (B), (D)
@) (A), (B), (O @Y (A), (B), (O
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113. Which important person is being referred to | 113. A feg g et 1 e

in the fol]owmg lines ? ]

"He was the first Indian who challenged the
supremacy of the West. He did not show any
inferiority complex for his religion. He
answered the critics of his religion and made

a loud (strong) statement of its spiritual
superiority.’

(1)  Ishwar Chandra Vidyasagar
(2)  Sri Aurobindo Ghosh

(3)  Swami Vivekanand

(4)

Raja RamMohan Ray

114. The main methods adopted by the British in
colonial India in the 27 half of the 19th
century to reduce expenditure and increase
government revenue were :

(A) Confiscation of Jagirs of old servants of
the native kings.

(B) Confiscation of rewards of old servants
of the native kings.

(C) Stopping social welfare works.

(D) Grant of large jagirs to the native kings
by the East India Company. ;

Options : :

1) (8 (), D) 1

@ (A) © D |

() (A), (B), (D) 1

4)  (A) (B), (C) i

115. Identify the reasons why moderate politics i
remained narrow in nature. :
(A) Social backgrounds of the leaders. f
(B) Most of the leaders belonged to the ‘!

powerful classes. i
(C) Prominence of new professional classes. i
(D) Increasing influence of leaders i

belonging to the Muslim League. |
Options - !
(1) (C) (D) |
(2) (A, (B), (D) i
(3) ( ), (©), (D) |
@ (A) (B) (©) |

=
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114.

¢ 115.

FAMEET ? @ .
‘o w4 R TR e A
R € oft 1w o o o o FRe
%mmqﬁm|mmﬂﬁ$w
4 gfqure fwant’

(1) 3R =% fqamarm
(2) 4 SiRifaw<1 =g
@y @ faaEEs
(4) T THHIEA T

wd H HH A AR SRR T ggH F A
U o gETa: 1991 | % Y H TSl 5
ATafyE 9d | S T

(A) %Qﬂ"{]'&n’eﬁ'[?mgﬂﬁ T Sl ST =t STt |

(B) &sﬁwmﬁ:gﬁﬁaﬁmmﬁﬁﬁﬁl

(C) THTS FeA & S dg A |

(D) = gfean @At g <ui TSl 1 ge-93
Siuits Hetcxoil

faerea :

(1)  (B), (©), (D)

2) (A) C) (D)

G) (A, (Dy4

& (A, (B), Q)
TG TSHITT AT gHfa & Geptea # @,
THEH RO T TETH

(A) S = "o 7oy )

(B) SRR el =1 Hufawmed o @ & 41
(C) T U9 =t i1 wepreran |

(D) e <fim § Heiferd Janedi @ e wid@ |
oo

1 ®), ©), (D)

(2)  (A), (B), (D)

3)  (A), (©), (D)

@) (A), (B), (C)
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116. Why did Manchester imports into India ] 116. QI]ﬁHﬂﬁ?%ﬁﬁmﬁWﬂﬁwfﬁm

decline in the f_irsl decade of 20" century ? I

(1) Due to the imposition of additional duty
on cargo ships coming from Britain to

India.

Due to the deterioration in the quality
of the goods produced in the British

factories, -

Due to the pan India Swadeshi

Movement,

Due to the British mills being busy with
war related production.

117. Which of the following statements is/are true
in the context of the first world war ?

When the war began in August 1914,
many governments thought it would be

(A)

over by Christmas.

(B)  The deaths and injuries reduced the able !

bodied workforce in Europe. |

(C) With fewer numbers within the family, g

household incomes increased after the j

war, E

(D) The war transformed the US from bemg |

an international creditor an !

international debtor, !

;

Options : !

. l

(1) (A)and (C) only |

(2) (B) and-(C) only i

(3) (C) and (D) only |

(4) (A) and (B) only if
EreE
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117.

T ST I Y 8 T ?
33§ WRa o7 T HerETed STt 9

(1) _ :
aAfaftar =it e & o R

(2) s ot i # S g At He &
e ¥ g1 B <k T |
Rl aTfere o YRASATd STER & Il |

fafewt sl 1 7 9 Helfed s |

(4)
= B o R |
v v gg & el § S ¥ HUA 9d © 7

(A) S & 1914 ® 95 YE g 9 g9

9gd W] TR 1 TE o T g foremmy
ERE RS e

(B) Rl SR HRIEH | U B HTHHTS T oI
<Al <t WA 95d FHH @ T |

(C) URER F & 52 9TF 9§ 75 % &g uiEn)
i 3 98 TS |

(D) 39 gE A e ol Fsiem 2 F1 a9y
FHIIER 31 a1 e |

forenen

(1) e (A) 9 (C)

(2) e (B) 71 (C)

(3) FHaa (C) 7 (D)

WY e (A) T (B)
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118.

119,

Consider the following statements with i 119.

reference to the early decades of the 20t

century and choose the correct answer with
the help of given options :

(A) Amongst weavers some produced
coarse cloth while others wove finer
varieties. |

(B) The coarser cloth was bought by the
poor and its demand was more stable.

(C) The demand for the finer varieties }
bought by the well-to-do fluctuated |
violently. i

(D) Famines did not affect the sale of
Banarasi or Baluchari saris.

Options :

(1) (B) and (C)

(2) ©) and (D) l

(3) (A) and (D) :

(4) (A)and (B)

120. A bell-shaped age-sex pyramid which is i 120.
tapered towards the top is indicative of :

(1) Declining population

(2) Constant population |

(3) Declining population of women !

(4) Expanding population !

ER5E
TGT-S0S-2023 S 50

Given below are two statements, one of them

is Assertion (A) and the other is Reason (R). |

Read them carefully and choose the correct
answer with the help of given options.
Assertion (A) : Town planning in London

emerged from fears of social
revolution.

Reason (R) : Town planning in Bombay
came about as a result of l
fears about the plague
epidemic.

Options :

(1)  Both (A) and (R) are true but (R) is not

the correct explanation of (A).

(2)  (A) is true but (R) is false.
(3)  (A) is false but (R) is true.
(4) Both (A) and (R) are true and (R) is the

correct explanation of (A).

118. %1 2 Fem fou 7w €, fomH ok 3ifemer (a)

3R 2 T (R) &, 3¢ SAFYEF 9¢ 3 fey
U el @ Herdl § T SW A T HL|

TR (A):  @ed A AR A F HW
: grfse Fifd & ¥ 4 g&
ERIREI
IO (R) mﬁwmmm@n
) TRMM F S YE R ™
il
fawea: .
(1) (A) 3 (R) <1 & € g (R), (A) T FE
ST Tl i |
(2) ()T & T (R) e T
(3) (A) 7@ & 9 (R) FE 2
(4) (A) % (R) <A1 T T 3 (R), (A) H &
AT L E |

20 off 91 & ‘@‘m <Rl % e ﬁ.i”n'ﬁ"@i
e W fAAR iR feu gu et  werm
T TE I T FL

(A) W"ﬁ@gﬁﬁﬁmmmﬁm
Fo WA [ & FIS A U |

e HYE T w9 Y e T Tl
3R 3T B § IqR-7ed HH AW U

(B)

(©) e e % wuS i AN wH-ui 6
T wrer off 3T 39ent 6 H 9l SaR-ge
T 91| '

(D) & FTEl O SR AT AT m%ﬁraﬁfzm
T ST ARl S AT

Taerea :

(1) (B) ¥R (C)

(2) () ¥R (D)

(3) (A) #R (D)

@Y (A) ¥R (B)

USTERR Bl STl 8, ST St © _.'q\,
) BHAME SHHEen '

(2) feer sAgEm

(3) wiewnedl =i g sEEn |

4) fa=nfa 2 e -
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PART - VI

GENERAL ENGLISH
|

121-122) Fill in the given blanks with correct | 126. Choose the word nearly s:mllar in meaning
ptions. I to the given one.
: COURAGE
1 IS téi 1)  Hesitation
p1. Bread and butter to be provided. |
(1) have | _
(2 are going l (2) Cowardice
(3) are I (3) Fortitude
(4)~ has ! (4) Virtue
p2. 1 e W \ouri Ietter yesteragl ! 127. Choose the option which nearly means the
(1) had receiv ce ! same as the underlined idiom.
(2) would receive !
(3) received He bids fair to rival his father as a lawyer.
(4) have received ; (1) trying very hard
3. Choose the sequence in which the following 1 (2) seemslikely
words/phrases can be rearranged to form a ' (3) much opposed
LOTrLLt sentence. (4) not quali.ﬁed
(A) whether I
(B) be true ! o '
(C) she 128. Choose .thc word nearly opposite in meaning
(D) it could to the given one.
(E) w ondered DAMAGE
(1 (C A) (D) (B) % (1) Compensation
2 BaaEs,
\\
3) Rupture
B HOE O (3)" Rupture
(4) Mayhem

4. Identify the part of the sentence that has an

error in it 129. Choose the option in which VOICE in the

o | A | .h given sentence has been changed correctly.
This is the only one of his novels that are Who is knocking at the door ?

(D) (B) (©) (1)~ By whom is the door being knocked
not worth reading . at?
(A) (2) The door is knocked at by whom ?

(1)~ (© (3) By whom is the door being knocked ?
(2) (D) (4) By whom is the door being knocked at.
(3)  (A)
( (B) 130. Fill in the blank in the given sentence by

choosing one of the given options.

——— ——— — T —— S —— R A P DA R, B S A A P DS S ) A

25. Identify the Tense in the given sentence. Copper is ___ useful metal.
Ram should have gone to the rnarket (1) the
(1) Future Indefinite p (2) no article
(2) Present Perfect~
(3) Past Indefinite | (3) a
(4 ) Past Perfect ( (4) an

(=
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Frafafaa Terin #1 wrgds e 39 g s

PART - VI

GENERAL HINDI
i 135. frefafaa § deqey qerd 7@ ¢

Tl (131-133) % WF IR fau

ﬁ\aﬁmﬁmmﬁﬂ% g4 | @M UG E S me W

|
l

ﬁéﬂﬁ@éﬂéﬁ%‘,wmmﬂmmmqﬁi

| AT ITRVEA F FR SR FA F 5w 7 @
aﬂhwﬁwﬁ,mmmmﬁ:@qmmﬁ

! 136.

S W S0 Y Fe siferck ggm ot feafa §
ST SYCRTF 1 ST LA H G 1 17 | |
A a9 Fae SURW &1 B @ @ v § s 3 |
SYCRT T AT ST H 6 A, 79 IR 392 |
UYTE Fel e |

131. f=fafad 9 @0 s sram w82

132.

133.

134.

(1) 39S W FAHA F FT
(2) 3UCW A T
(3)~ SUCY W A HIAI
(4) 3UeW &M

SN foh W 39ew 8 29 ?
(1) Z9mer

(2) FHaATEI

(3) "eER

(4)  HHITHOT

I T YHTE 90 | ST el e § 2
(1)« 19 379 39 T 3 % @
(2) = 37 foret 3=y i | Y

(3) T IRV W &

(4) 9 ST G H T=E

frefafaa ¥ sfaaraes g3 v &
() T

(2) T

(3 ™

(4) R

e
TGT-HIN-2023 %éi

h

1

1

1

|
|
|
|
|
|
!
l
|
|
|
|
|
|
|
|
|
!
|
l
|
i
|
|
|
|
|

28

13
3

7%
8

39
40.

(1) S
(2) HaH

(3) TUHH

(4) wiHTE

frfafad 4 wr-dfa aren e =8 ¢
(1) arfery

(2) e

(3) e

FTEA

. “HN e erer & g a1 .

(1) 1 ¥ gem fyern

(2) TRt =1 srafus v vgam
(3) Tt =S T I 3T=E A W
(4) @9 AR S

. Frefefea ¥ sgrg weg ¥

(1) T=R
(2}~ Hiur-wen
(3) s

(4) fegwm

fareim wree % snum W s weg g
(1) g9 - gaw

(2) 3Hfd - svEEfq

(3). fHer - wef

4) - Tg



PART - VI

HINDI
141, fstatara 3§ v masi @ gfe 3 svs ae i 14
e
(1)~ favgni :
(2) el I
(3)  gu |
(1) 3meR |
142, st vl & feru v wiag & i 1 anna @ 140,
(1) sfv feql am s frdsitn :
Are l
(2)  HU O FLY qre RURIE |
(%) enfa A sfd aw ania |
(1) SIS 6T are PIZIEC
‘
143, famfafaa sqw vl % few us ez & g ¥ ; .
ST & '
(1) 3T 89 Are sneRfars |
(2)  smAvIEd A A1fuE dfgafe |
auf ;
(3)  smen A sfver Iyl
(4)7 a6 an wegereeit |
| 148
fpafafaa wmin @ vegds ygwt 3a o smenfa |
¥l (144-146) & Tdtd 3w difsu l
1 1 HifEe WA € @ el B9 8 gafau |
AT &l W1l € W 1 arafdd &9 WS ©
Teifg mm?r.‘lﬁf(mmuwm 3R Hepfa & fasm &
Ty @ fasfaa @ ¥, wq wea shas i fafaa s | 149,
AR UE tﬂfu‘r wran @ sifyas eyl @ € e :
wpa &R b e s Qe Ssftaa & stfaente e |
Hifas v gra @ WO i © |mtrﬁ?mamrm|
famm famrd, de%mmnmf@mmraﬂmm|
S o |
144. 1 @ arEdfas ¥9 8 | 150.
(1) Hifaes s |
(2) N ) '
(3) fafaa s O) ]
(4) el N |
‘; )
TGT-HIN-2023 éi 34

s o ferfara = famfaa & s g

(1) wmedia g

(2 T s viepfa & fadm & 'm
(3) v s E g

(1) el

feifarfiaa 1 9 faa wfas s Eﬂm
A ?

(1\~ e !
(2) o
(3)  w ufeE |
(4)  Ardieny

. frafataa 1 i i &1 gfe 4 swm o

(1) s3rEfaEn
(2) arE
(3) ST
(1) I

frifatea 3 awsife wmm

(1) @eifad

(2) AT

(3) Hadg

(1) fufe

freafafaa o «ifa o1 wetorarst =@ @
(1) wva

(2) U

(3) W49

(4)  HYHT

fr=fafag faemed wes-7mi 4 smma @
(1) Ffea |

(2) iifaa T

(3) ofawia - wgwlEa

(4) g - fva
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